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��������4�5������3����1���6 -���$'0	���
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	ก���,����8�,$6'�ก�4�5������.�	���$�$ 

�����
+�������7�$96ก�1�4���	�$���'0	�,&���8�	5���.ก��7�:$���11ก���ก���ก����������$#119���,��
��	

�4�5����1��.ก�$5� �����,&���8�	���7�$96$�������$���.�$�
9��
�#��ก��'��ก����	�$�$,3�,$����.�	��� 

$�$ ��	'��%;$'�กก��'��ก��#��	�ก����.��ก�1��11�4�5���������ก���
������	+
�$���.��ก��� �,.$ ��$

��<	 ��$���� ��$7.��:.� ��($��$ 

'�	%������	 ��($'�	%���%$0�	��	
��������������%��ก%�����	,��
�7 ��7�$9367&,#������6$�$� 

,$
� ��ก���
��
��������	'�	%������	���������,�$'�ก
����5�'$+0	,��� !	������$����$ '0	������ 

%��ก%�����	��11$
������	#�.�4���$$2�� �4�7�3 �4�,����$ #�����7��ก�,��� !	����3����1���6  

 

���7��ก�9���,��
����2���/��.�	%$0�	��	'�	%��� �&� ��&�ก��� 

$�����9�����, �������2���/��	������
�����6 #����($������	 

��	,3�,$�ก.�#ก.%���,3�,$ ��($#%�.	ก2��$
���	��$$2�� �2�

9��%������������%�.������	-���$��%���,������3�$ ,��1��$

5�������=�$���7��ก�9���,��
�7&��ก���2��	,�7�� %���

������ �$&��	'�ก'�	%������	��
��
$
��� ��$$2�� ก��	$2�� 5�

'$+0	����$2�� ��	$��$,3�,$1�
����4���$$2��'0	�������2���/ �$

ก�����'����.�$�$ก���$3��ก�6���7��ก�9���,��
 �$&��	'�ก 

��$$2����($#%�.	$2���2���/���'��.	-��.���11$
���8������.�5� 
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,��1��$�2��	,��
�8��ก��70�	7��4�#�����
9�ก����#���ก���4�-.�$��11������� �����,&�� 
��
� //� #��

��:$9����.�	>��	,3�,$ ��ก��1�$ก��'��ก�����7��ก�8���$�$ก�����.�$�.����	,��1��$�$,3�,$ #��

����������#�;	��	ก?���1��1 ���1�	��1��	,3�,$ <0�	�
�	�%�.�$����($�.�$���#��	�%��%;$+0	��ก�
�7��	 

,3�,$�$ก��'��ก���4���$$2�� 8�����	&��$5�����.	-��.���ก�
�7��	,3�,$ 5��#ก. �3$��	��	���$,3�,$ 

��������#�;	��	-��$2�,3�,$ ��11�������7�$96��	�$�$,3�,$ ก����ก�3.�%�&��	�6ก���	��	���$,3�,$ 

#��ก���
��.��&�����%�&�5����1ก���$�1�$3$'�ก%$.��	�$
��$�ก1 

 

1. 
�����
�������ก����
 �!��ก��"��ก������!�ก�#$� 

��	��5���,����8�,$6#�����.���ก�1�4�5������.�	���$�$ '$ก�����($�
+�,��
���	-���$�$���� ���

�.�	70�	7
	�4�#�����7��ก��4��$ก����	,�7 ก.�$��ก���+��$�#$��
���&��	��=,��
 ��11ก����
�9
A�$����
$ 

$2�5���.�2�$�'�$ก���,����8�,$6#��'��ก���4�8���$��	ก�3.� �&� ก����
�9
A��	��= %�&���ก,$ �$&��	'�ก 

�������
��.����7��ก�9���,��
#���
�	#������ ��($�
$���#��1�
ก�����%�ก��.���%�-���,����7��ก�1�
%�� 

'��ก�����7��ก���	$��$ �.��'�$2�5���. )8�ก$�?ก�����	���7��ก��.��* (The Tragedy of the 

Commons) (Hardin, 1968) ก�.���&� %�ก5�.��ก����
�9
A���1���	%�&��%��,����7��ก�8��5�.���'����	���

,���'$ �.�	�$ก;�.�	'��������,����8�,$6'�ก���7��ก��%�.�$��$�%���ก����3���.����'���($5�5��ก.�$���

���7��ก�$��$'���&���8��� 8���$��������3����7��ก���	ก�.��ก;'�+�ก�,����8�,$6�ก
$ก�.���ก�
�7������'�

��($#��$2�5���.������&����
�7�$������$�����;� %�&���'+0	ก�1���	��/�
�$���7��ก�$��$5� 

���������'�$���$��$'0	$2���<0�	ก��ก2�%$�ก����
�9
A�$���7��ก� (property right) 8��-.�$ 

������($�'����	 (ownership) �$��	��ก����2���/ �&� ��= #����ก,$ ���	$��5���2��$
$ก��-.�$#$� 

$8�1��ก��1�
%��'��ก�����7��ก��$��ก������ 1) ��=����5�'��ก����	 �$���#11��	�4��	�$#%.	,��
 

�����ก��7�$936����6�4� [�[ %�&� 2) ก2�%$�ก����
�9
A�%���ก,$����5����1���	#��1�
%��'��ก���$ 

���#11������$ �7&������	#�	'�	�'�%�1�
%��'��ก����.�	���	�&$ ��=<0�	��($���#�$�$ก��'��ก�����7��ก� 

                                                           
1 ก�����$6 7�%��
	%6 #�� �3�
� ��	����$6. ��ก�
�7��	,3�,$�$ก��'��ก���4���$$2�� ��&�ก���1������$'�	%������	. 

�
���$
7$96�
��������%�1�� 
̂� 7�:$��$3��6#����	�� �%��
�������	���$��
$��6, 2555. 
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9���,��
����2���/ 5���2��$
$ก��'��ก���4�
������
���	ก��7�:$�����=ก
'���������$#��	�$#�.���3����� 

8��'��%;$5����.�	����'$+0	ก�����#$��
�ก��'��ก���4��$�,
	ก���$3��ก�6 ก�.���&� ���-.�$��ก.�$��#-$ 

7�:$�����=ก
'#����	��#%.	,��
 ��	��5�����������7�$96ก�1�4�8��ก���,����8�,$6'�ก���7��ก��4�5�� 

��($#%�.	���5������2���/ 8���`7��ก���%�������$ก���2��4�ก�1��ก,$ 

 $�ก'�ก$�� ก��ก���3�$����=ก
'�7&��ก��7�:$�������$2�5���.ก���$�1�$3$ก���	�3$���	�$#�� 

�.�	������ 8��	ก��7�:$�ก���,����8�,$6����
$�$���#11�3���%ก���ก���ก��� ก������7&�$����7�� 

���ก ก��������$��11ก��-�
�'�ก�7&��ก����	,�7��($�7&��ก�����#���.	��ก $8�1��#���
���	ก��7�:$� 

�������%�.�$���.	-��%��ก
��������#��	�$ก��#�.	,
	���7��ก����	�4�5�� �
$ $�2� ��$��($#%�.	 ��%������3��

��1���6 

��.�	5�ก;��� ก����กก?%����ก����ก�1�4�5���$����	#�ก> ก;�����+3����	�6�$�,
	ก���,����8�,$6 

��	��= �,.$ �2�$
�����	 )�4�* �$ 7.�.1. �4�5�� 2484 ก2�%$��.� 7&�$������5�.����ก����
�9
���1���	%�&� 

5�.5��#'�	ก�����1���	���ก?%����%�+&��.���($�4������=���2�$�'���1���	 ��#���ก�� ก��'��ก���4�5�� 

�$������5��ก;��
���2��$
$ก��8����=1�����	#�.$��$��($��$�� 8���$�b 7.�. 2511 7&�$����4�5�������($�4� 

������$��������	�
�$������ 230,000 ����	ก
8����� #�.�.����$�b 7.�. 2522 �����=�$�������
�e��4� 

������$���������� �
���($������ 50 ��	7&�$���������$���	%�� �2��%�7&�$���������$+�ก�e�5� 122,784 

����	ก
8����� '$�b 7.�. 2527 ��=1������
��e��4�������$�7&��-.�$�����%���ก���2�5��5����ก��($7&�$��� 

24,063 ����	ก
8����� ���#�����($7&�$����4�������$���	�
�$ 130,815 ����	ก
8����� �
���($������ 25.5 

��	7&�$��������� �.�$�4�����%�&����.������ 3.5 ��	������+�กก2�%$��%���($7&�$����4��$3��ก�62 

'�ก��������	ก�.���	5�.�,.ก�������$+0	����5�.������
�9

�7��	ก�5ก��=�$ก��'��ก��

���7��ก��4�5�� %�ก��	,���%��%;$+0	��������%����	$8�1���4�5��#%.	,��
 ����2���/ �&� ก������%�

�����2���/ก�1 ก�����.�$�.����	�$�$,3�,$ ��ก���	����	�������#��	ก�1,3�,$������.��ก.�$ �7���ก��

��กก?%�����1��� �
$�2�ก
$��
���	,3�,$ ก�����%$.��	�$�$
����=1�	��1�,�#�.ก?%����$ก��'��ก���4�

                                                           
2���$
9
�&1$�����+���. ������$�4�5�� 1�����$'�ก���$�2���&��.  �&1��$'�ก 

http://www.seub.or.th/index.php?option=com_content&view=article&id=79%3Aseub&catid=23%3A2009-11-02-06-

29-09&Itemid=37&limitstart=3 
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5�� �,.$ ก���%��
�9
 ก���,����8�,$6#ก.$�ก93�ก
'-�����
�9
7�
������	&��$5���	ก���%�������$ #����1

�2�$�'ก������
$�'5����� ��$�6ก��	 $�ก'�ก$���'��%$�������=��	��ก'������$��
�$��	�1�.��$�$���	+
�$<0�	

������4��$,��
�������($ ���.���'2���$ #����	�.�,3�,$���	+
�$�2�������7��ก���	,��
  

��.�	5�ก;��� #����	��,ก��'���$8�1���.	���
�ก�����ก�4� ����	��$�4��0�$��#�$�4�9���,��
 

�����&���8���5� #�.ก;��($ก�����ก�7&��%��	-���	���$����=ก
'�
5����($ก�����ก�7&��wxy$w��
�7�4� 

9���,��
�%�ก��1�&$�� '�ก���	�$-�ก�����ก�4��7&�����8�,$6��	���$����=ก
'��	ก���4�5�� 

��=�
��%ก
'#����ก,$���ก�4�����	&��$5�������$ ���	#�.��
���2��$
$ก����'$+0	� ''31�$�����($7&�$��� 

���	�
�$ 6,335.54 ����	ก
8����� <0�	��&������1ก�1�����ก���2�����4�9���,��
8���`�����b�� 5,190 ����	

ก
8����� '��%;$�.�7&�$�����$�4����	%��������ก�0�$����#�$ �
��'$2���,��,�7&�$����4�9���,��
 ���+�ก

�2����5��$#�.���b5����� 

 

2. &��'&ก�������������: ก���'ก������������
��
�����"�ก�)!��!�*+&,�-.ก�" 

$8�1����=��� �$�1�$3$�%���ก���%�������$ก���2��4�5��#��ก�����ก7&,����=ก
',$
�������$5�. 

�$���%/.�7&��ก���.	��ก ก��'��ก���4�5���$��ก���'�ก1$�	�.�	$��$2�5���.��������%����.�	�%/.%��	 

���	��	����=ก
'#����11$
���$6���������� ��&����� 100 �b ก.�$��	7���5��+�ก$2�������	���ก�$7&�$��� 


����� '$�$� ''31�$��	7��� ก�����($ )���$��&���%/.* ���%�.������	����=ก
'��	
����� ��.�	5�ก;��� 

ก�����ก��	7����$����#�ก ��($ก�����ก��	7���7�$9367&�$��&�	 8��,����$'�$2������ก�.��ก�17&, 

���	+
�$�&�$> 8����	�����+ ���1�����($�.�$%$0�	��	��11�ก���ก������	��
� '$��ก������กก��-�� 

-��$��%�.�	�4�#����	7����.� )�4���	* <0�	%���+0	��$���5�.5������	7����7��	��.�	����� #�.��	��5��-� 

-�ก7&�$1��$ ��3$57� 5���,���� ����'$7&,��%�����%��ก%����0�$���.���ก�$ ���%��ก�
,�ก���$�����6 

����กก����
18���	��$5��%��� ,$
����ก�$�$��ก����,.$$���.� )�$�ก���* (Agriculture Forestry) %�&� 

��$�4�$��$��	 

�.������ 7.�. 2503 ��=1���������%;$�.�����7
����
���-�-�
���	7����%���ก�0�$ '0	5��'�����	 

ก�	�3$�	�����%6ก���2���$��	 (�ก�.) �7&���2�%$������$ก��-��ก��$�%���ก�����1������$ก�����ก��	7��� 

7&�$��&�	��($��	7�$936�%�.����%�-�-�
��7
���0�$ �$&��	'�ก��=��	�.� ��	7���������ก�$����#�ก�.�$�%/.��($ 
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��	7���7&�$��&�	����%�-�-�
���2� �.	-��%�,����$��	7��������5��$��� 8���`7���$,.�	�����	7��� ��

�����ก��2� '0	$2�5���.ก����ก$8�1��ก�����ก#�$��	7���7&�$��&�	�%�.�$��$������	7���7�$936������%� 

-�-�
���	 -��-�
���	7���%���������5����.	ก�����ก#�$��	7����ก.�������	7���7�$936�� �7&���7
�� 

-�-�
���	7��� �,.$ �����������<��5����กก?%����	�����%6���ก��	7����$�b 7.�. 2495 #�� 

�����������	ก�5����กก?%����2�$�	�����ก�$�$�b 7.�. 2496 �.���5����1�����.���&�'�ก�2�$�ก	�$ 

8��	ก��7�:$�#%.	�%���,�,��
�%�'�����	��$�6�
'��ก����	�0�$����2�1���%	�6 �2��
�%���%/. '�	%���

�	��� �$�b 7.�. 25083  

��$�6�
'��ก����	5����1����,.���%�&�'�ก�	�6ก����%��#���ก���#%.	�%���,�,��
 (FAO) #��

��-���,����,�/��	7��������.�	> ��,.����	��ก=�$�$ก���
'��#��7�:$��.��ก�1$�ก�
'����	5�� �$����

��
��#�ก��ก���
'����	���$�.�	> �,.$ ���$7�$936��	7��� 8��#���������	7��� ���$�
$#���3|� ก����#� 

��ก����$��	7��� ก��ก2�'����,7&, ก�����ก7&,��3� ก�����ก7&,#<��7&���7
��7�$���5���%�#ก. ,����$ 

��	7��� ���$�3���%ก�����	7���#������=ก
'��	7��� #����ก��7�:$���	7���8���$�$ก��7�:$� 

��$��	7����$����;ก �,.$ ก��ก�����	%$����	 ก���,�����.	$�2���	7��� ก���.	���
�ก�� #��	�7��#�� 

����7�$936��	7�����	
����ก,$ ก�����ก�3.������	#��ก�����1��3	�3�
�7��	7��� #��ก���,� 

���8�,$65����	7��� ��ก����ก��������	7����7&���-�#7�.�������5���.,����$��	7���#��-���ก�������	 

������	'��%��ก����ก���}ก�1��#��ก��'������$���	7����7&��+.�������������%�#7�.%����
�	�0�$4  

-�ก���1����2���/�.��������$�	��	��%����	7&�$���
������ก
��0�$�$��ก�������2���/ ��	$��  

 1. ก���2����7&�$����4����	��
�'�กก�������=1����$8�1���$ก������	#�	'�	�'�%��ก���ก�8�.$��	�ก.�

�7&�����ก��	7�$936�%�. ����2���/�&� ก�����	&��$5��%��ก���ก�8�.$�2����7&,�3ก,$
�����0�$�$��$��	7��� 

�7&��#�กก�1ก���%�����,.���%�&����$7�$936��	#��� ''��ก��-�
��&�$> <0�	����ก5���.�$8�1����	��=5��

                                                           
3 �2�$�ก	�$7�:$�ก���
'��ก���ก��� (�	�6ก���%�,$). =�$������	�$�
'����	7���. ������
ก�����ก��	7�����	 

������5�� ������
ก�����ก��	7����$
�������	5�� �&1��$'�ก 

http://naist.cpe.ku.ac.th/~vasu/arda/rubber/?page_id=212#sthash.fBIDmhzb.dpuf  

4 �2�$�ก	�$7�:$�ก���
'��ก���ก��� (�	�6ก��%�,$). ���	����������$�������1
��

�� (
�����). �&1��$'�ก 

http://naist.cpe.ku.ac.th/~vasu/arda/rubber/?page_id=212#/ 
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������$��11�ก���ก���#11-��-��$5���.��11�ก���ก����,
	��������.�	��;���� $8�1���.	���
���	

7�$936�%�.ก.��%��ก
�ก��%�ก���	+�	7	�0�$���	�4���	�ก.�#���ก
�ก��13ก�3ก�2�����4�5����.�	ก���	���	#��

�����;� �$#	.$��7&�$�����%����	
�����'0	%�#�1�	 8��ก�����($7&�$�������	=�$����=ก
'#��7�:$� 

�3���%ก�����	������ 

$�ก'�ก$�� �%�3-����ก���2���/��	ก���2����7&�$�����%���$9���,��
'�กก���2���$��	�ก
��0�$ 

��.�	,���'$'�กก��ก2�%$�$8�1����	ก�	�3$�	�����%6ก���2���$��	 �ก���ก������=�$���ก'$5�.�� 

�	
$�3$�$ก��<&��ก���7�$936��	'0	���	�����.��8��	ก��[ <0�	��13�	&��$5��2���/��	-�����'�����8��	ก������1 

�3$�	�����%6$�� �&� ก�����	+�	�4��$��$��	�3ก�b�$,.�	 3 �b#�ก #�����	��.�3|�����  

��&��7
'����'�ก��ก�����	��$��	7��� 71�.���($5��5�.�$�.� ���	ก��#�	 �7���`�$��$��&�$ 

���'�73.	�0�$���	1$#���#�ก	.����		.�� 8���1��	��	'����.1�
������������.�$��$ ��$��	'0	��($5����� 

���������,��$����� �.�$7&�$�.�	'�����$8�.	�7���+����	����,7&, �'����	��$ก;'�ก2�'���7&��5�.�%�5�#�.	 

��%����$��	�2��%�-�-�
�$�2���	���	5���	
$$����	 �7&��ก���7
������
�9

�7��	$�2���	'2���($���	 

���1��,7&,�%�%��8���,����.�%/��%�&�������� #�.+0	#���.�'�5�.���1��,7&,8����ก����2���$��	 71�.� 

��&����	���3 7 �b�0�$ 5�'�������%$�#$.$��	��&�$�����	 �2��%�#�	#���.�	�	��$��� �7���`�$��$7&, 

���$�.�	'�����7���5�.��#�	 $�ก'�ก������/�������$�
�	#���������ก�.��5����	��$ ��	71������'�ก	�$ 

�
'����������
$����.���	��$��	�����1����1ก�1�4�9���,��
�$#	.��	���5�� <0�	%�ก�
��.��4�9���,��
 

�����+�%��$&��5�����#��	����($����	
$ก;��	71�.�������.���	����=ก
'��	�4�9���,��
 ��กก�.����5��'�ก 

��$��	7���+0	 14,445.16 1���.�5�.�.��b (7	�6��ก�
A �
����,3�
ก3� #�����)5 

2. ก���	�3$�$� ''��ก��-�
���.�	������$�7&���7
����
���-�-�
� $2�5���.ก���	�3$�$�3กก
'ก��� 

ก��-�
� ก��������$#��	����ก
��0�$�$��	ก��
�7'�กก���.	���
�ก�����ก7&,����=ก
' �.	-��2���/�.� 

ก��ก.��ก
��
9��
�#���
+�,��
��.��������7�$96ก�1���7��ก���	�$
��������������$#��	��.�	�2���/ �&� ��($

�
9��
�����$�$%$�ก�.�� ''�����$����=ก
'��($�2���/ '0	$2�5���.ก��5�.���%$�ก�.��
���	���������	'�ก����

-�$-�$��	������	7���'�กก��ก2�%$���	����8�ก ���1�	,.�	������	'$$.�%�	�%� #�.1�	,.�	ก;

                                                           
5 7	�6��ก�
A �
����,3�
ก3� ,9���$�/ #ก���2�73� #��7
��
7�6 9
�
8�'$���:$6. ก��������$#��	��
��� #����ก���ก��5%�

��	$�2��.� 
��%��	ก���2�����4���$$�2� #�����ก��	7���. �$ ������ Forest Research Bulletin. ��.���� 1 �3���� 2009. 
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�ก��2���.�	$.��'%�� ��.�	�,.$����%;$5��'�กก��#� )�����&�$��	* �$
����� ��ก���	ก������	�3$�3.��� 

�	
$'2�$�$�%�����7&��12��3	��$��	8��%��	�.�'������+ก���$�2���		�ก�	���($ก2�5���.�		�	�� 

��.�	5�ก;��� -�ก���1��	ก��������$#��	7&�$�����$$�2�5���($��$��	7����2��%�8��	����	 


���$������$5���.�	,���'$ 8���`7����.�	�
�	ก���ก��3�7&�$�
$��	7&, ��&��8��	����	������$ ก���%� 

���8�,$6�.��$3��6ก;������$#��	5����� ���ก�1ก�1ก������$�.�$�%/.��ก'���	����� /%��,
	8��	����	 

�.���11$
����$��ก����,.$$�� �$&��	'�ก���������'�.���
��$�กก����3ก��$��	7���������1%$�'$������� 

,�3.�ก;��	�2��%���11$
�����1���6#����($�4��%�&�$ก�$ 8��5�.�����'�����;''�
	#���
��%�����5��.���11 

$
�����$$�2�ก;5�.$.�'�������$#��	��ก$�ก <0�	#�����'�
	#���ก��������$�4���$$�2�5���($��$��	��($ก�� 

�2������11$
�������3$#�	��.�	��ก �7����4�5����-��.��3�%
��
8�ก ก�.���&� �
���8�ก���$����ก
��0�$��($ 

-���'�กก�����	��	7&�$����4�5������8�ก������	�$������5����	���� ����2���/�4���	��-�ก���1�.���11 

$�2� �7����
�77&�$����4���-��.�ก���.	���
������3$#�	��	$�2��.����5%����.�$�2�9��%�&����-
��
$%�&� 

�.	-��.����'�ก���	$�2�$��$��	 (��.7	�6��ก�
A �
����,3�
ก3� #�� 7
��
7�6 9
�
8�'$���:$6)6 

3. $8�1��ก���7
��7&�$����$3��ก�6 #-$7�:$�����=ก
'#����	��#%.	,��
 `1�1��� 7 
�����$8�1�� 

�4�5��#%.	,��
 7.�. 2528 $2�5���.ก���-,
/%$����%�.�	��ก,$�����������$�4�5�� �'��%$�������= #��,3�,$ 

������.�����#���2�ก
$�$�4� ก��#�.	,
	ก���,����8�,$6'�ก���7��ก���	��= ��ก,$ #�����,�,$ '$�ก
� 

ก������	����$�
�9
�$����
$�4�<0�	��($ก���7
7��ก�1��= ���	�$��ก���ก�����ก����� �$3��ก�6��1<��$����
$ 

�2�ก
$#��������.�������	���,�,$ ก��5�.5����1��ก����
�9
A����
$ ก��5�.���������$�	�$����
$ ก��+�ก'�1 

ก3��2��$
$��� � /%�ก���7�7,3�,$��ก'�ก7&�$��������8��	ก��7�:$���	��= ����'$� /%�����ก
�'�ก 

$8�1���������$�	 -�'�กก����.	������
18���	����=ก
'�2��%����7��ก�9���,��
+�ก�,���.�	�%���� 

�.	-�ก���1�.���11$
��� #��ก��������$#��	��	��	��#����:$9���ก�����($� /%��,
	8��	����	����� 

����<�1<��$���	�$��	�����
� ก?%��� ��11��,ก�� #��ก������ก���	��	���,�,$ 

����2���/ �&� #$��
��$ก���$3��ก�6���5�.�����1+0	���������+�$ก��'��ก�� ก���,����8�,$6 #��

ก���$3��ก�6��	,3�,$������.�$�4� #��'���-�ก���0ก�� 	�$�
,�ก�� #��ก�����&��$5%�����ก���	�%���ก��

                                                           
6 7	�6��ก�
A �
����,3�
ก3� #�� 7
��
7�6 9
�
8�'$���:$6. �2�5�'0	5�.������ก��	7���1$7&�$�����$$�2�. �$ ������ Forest 

Research Bulletin ��.���� 1 �3���� 2009.  
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�����1#���%;$�3��.���	,3�,$��������+���.����� �2�ก
$�$�4� #���$3��ก�6�4�5������ ����%;$��.�	,���'$ 

�&� $8�1��#�ก�$��ก'�ก�4�8���2��$
$ก��-.�$8��	ก��'������
$�2�ก
$�%�#ก.���?�6-����ก5���$ 7&�$����4�

��&���8��� (�'ก.) �$���� 7�.�.,��
,�� ,3�%���$ #�.8��	ก����	ก�.��5����1ก���.����$'$���	 �ก��
ก

8��	ก��5� �7���5�.�������	ก�1,��
�,3�,$'2�$�$��ก���5����1-�ก���1�7������	70�	7
	#���,� 

���8�,$6'�ก�4�$�1#�.1��713�3� ก.�$�����='����ก���,�ก?%����$3��ก�6#��'2�ก��ก���,����8�,$68����� 

,3�,$5�.��1���1��������> <0�	�%;$5����.�	,���'$�.��$ก�����ก�����7&�$����4� ก?%���5�.5��ก2�%$��%� 

���,�,$��1���1#�����������.�$�.�� 

 

3. +'�+���&��#$�: �'���"��0�����������������
��
�������
+'�+�
��1�
�� �!7 

����7������$ก��'��ก�����7��ก��4�5�����-.�$����	5�� �ก
�1�����$'�ก����1ก���6���	 

�����2���;'#����������%���$%��������;$ ���+ก�+��	����2���/�����ก��7��+0	��8������ �&� ���'� 

��($ )-����1-
�,�1%��ก* �$ก��'��ก�����7��ก��4�5�� ���	$��'��%;$5���.�1�����$���-.�$��5�.5����ก��7
��'$6 

,��+0	���������+%�&���ก�
�7��	�4��%$0�	�4�����.������+'��ก���4�5��5���2���;'8���2�7�	 ก�.���&� 

�.�	��($�����2���;'����ก
�'�ก )������1-
�,�1�.��ก�$* ��	%����4�� ���	%$.��	�$
����=�����ก�
ก�%�&� 

�,�ก?%����$ก���ก���	ก��13ก�3ก�2�����4� 
���
,�ก������.�	�0ก��#���
'���	�6��������$ก����ก��#�� 

�$3��ก�6�4�5���$���������������6����#��#�$		�$�
'���.�	> 
����ก,$����.�	�$�1�$3$ก
'ก����7&�� 

��	��#��9���,��
 ก��7�:$����8$8���#��-�
�
�� 6̂�����($�
��ก�1�
�	#������ ������	
��,3�,$%�&� 

�	�6ก����	+
�$����.�	���������.�$�.��ก�1%$.��	�$���	��$�$�3กก
'ก��� ��ก���	��	��$8�1�� ก�
ก���	 

,3�,$�$ก���,����8�,$6'�ก�4�5����.�	���	�&$ #������2���/ �&� ก�����ก�2�$0ก��	�$������.�ก���4�����3� ���	

�$�,
	7&�$���#���,
	�
+�,��
�������7�$96#��70�	7
	�4� �$&��	'�ก��($ก�3.�#�ก���'�5����1���8�,$6'�ก�4�5�� #��

��($�$ก�3.�#�ก������	5����1-�ก���1�$ก����ก
�
��7
1��
'�ก�4����� 

                                                           
7 7�:$�������'�ก ����$�1�$3$�%�'�����	�4�,3�,$�$���7&�$����4��$3��ก�6 ��	 �.�ก����
�3� ��$�$�6 ก�/'$7�$936 

$�ก�
,�ก���%��
�������,��	�%�. 
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��.�	5�ก;��� '�ก����7�������	%����4���$ก�����������.�$�$ก��'��ก���4���$��($=�$ 

�����3����1���6��	9���,��
 #%�.	ก2��$
���%�����%�.������	,��
��$�$��	�� ��	71���'2�ก����	ก���� 

�2�$�'��	ก��1�	��1�,�ก?%�����	%$.��	�$��,ก���$ก����ก���4� ��	'��%;$5���.�ก��'��ก��7&�$����4� 

�$3��ก�6�$� ''31�$��	5�.�����+%�3����	ก���2����7&�$����4�5�� �7�����	71ก�����	ก���2�����4����� 

�
9�ก���.�	>��.�	��ก������ก?��($�.���%��%;$���.���� 5�.�.�'���($ก����ก��1���5���+&��$ #��ก��13ก�3ก

�7&���0����	7&�$����4���	-�����
�9
7� [�[ ���	$���$&��	'�กก��'��ก����	ก�.����($ก��'��ก���,
	������ �2��%�5�.

�����+�ก���	��#��4�5����.�	����+0	 

$�ก'�ก$�� $8�1��ก���7
��7&�$����4��$3��ก�6ก;5�.5����($�
9��
�#��#$���	#ก�� /%����+�ก���	 �7���

�$������7&�$����$3��ก�6��������.��
� ��=��	5�.�����+'��ก��#���3�����	7&�$����$3��ก�6�%�.�$��$�%��ก
�-�5�� 

������%$.��	�$�����1-
�,�1ก;��	5�.����	��&�ก�$ก��'��ก��#11�&�$�����ก�.� �����$�����2���/'�ก13��� 

#���	�6ก������1���&��$�7&��#ก�� /%��������#��	��%�.�	��=ก�1���,�,$ '0	��$�ก��������$�
9�ก��'��ก�� 

7&�$����4��$3��ก�6�%�.�����
9�ก��'��ก���,
	<��$ %�&�ก��'��ก��#11���.�$�.��<0�	�������	ก�1ก?%��� 

��=9���$�/�b 2540 ก?%����
�	#�������b 2535 #��$8�1��ก��ก��'���2�$�'��.���	+
�$���� 8��ก���0	 

�%�
�����,���	�����������.�$�.���$ก����ก���4��7
���0�$ ��
�����	#�.,3�,$���	+
�$������	+
�$=�$���.�$�4����.

��
� #�.5��#��	�%��%;$�.�����ก�
�7�$ก����ก���4��$���#11��	ก��'�����	�	�6ก��4�,3�,$ #���%��	�6ก�

�$3��ก�6�&�$>�$���	+
�$�������.�����'��1#��+.�	�3� ���#$���	�$�.�	ก?%����4�,3�,$�.�	> 

�������ก���	#��ก��#'�	� /%�������&�����$��	,��1��$������.�$����4� 8���`7��ก������ก���	 

-.�$�&����9������$��-��%��ก
�ก����1�����.�	����+0	�.��$7&�$����4��$3��ก�6�����	��,ก�����ก��$��$ ���$#�.�� 

,3�,$���	+
�$�.�	���	+
�$=�$���.ก.�$#������	�
�$ ก���e�ก��$�
�9
5�.�%�,3�,$�%�.�$��7�:$��$��	5������ก�� 

�.���. #��ก��'2�ก���
�9
�.�	>��'�.	-��.�������($9���#��ก����
1��
����%������.����,�,$ ���	$��-� 

ก���
'��'2�$�$��ก5��1.	,����.�	,���'$�.� 7&�$����4���-���$��������. ก�������$��ก'�ก7&�$���%$0�	 ก;'����$ 

'�ก7&�$����&�$����5�'�1'�	#�$ <0�	�ก
$ก�.�ก2���	�����	��,ก��'�'��ก��5�� $�ก'�ก$��	�$�
'���.�	>ก;�&$��$ 

��	ก�$�.� ,3�,$%���#%.	����ก�
�7���'������.���$3��ก�6#��'��ก���,��4���.�	���	�&$ �$�	&��$5����,3�,$�� 

�������$�	�$ก�����	+
�$=�$ �,.$ ก��5����1��	�
�9
'�ก��=�$ก�����	+
�$=�$#��ก���.��'��ก���4� ��($��$ 

'0	������	�&$��$%��กก����	ก�.�� �7&���%�����-�5����.�	#��'�
	#��ก���	���	�.�5� 
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  �	�6ก����%��#��ก���ก���#%.	�%���,�,��
 (FAO) 5���$�1�$3$�%�ก��'���2�$�'#���.	���
� 

�2�$�'�%�ก�1,3�,$ ���	+
�$�$ก��'��ก���4��,
	�$3��ก�6 �$ก�����	������we�
��e$�6��	ก;71�.� ก2���	 

�.	���
�,3�,$�$�3���$#%.	,��
�%������.��'��ก���4�ก�1��= ��	$��$��&��%��กก����	�4�,3�,$�$�.�	ก�%��� 

���	%���+&��.��4�,3�,$��($#$���	�$ก��'��ก���4���ก��	%$0�	 �����($��	��&�ก�$ก��'��ก���4��$3��ก�6 

�4�,3�,$#���4��3���$#%.	,��
%�&��4���$$�2��.�	ก;��($�4��$3��ก�6 �����($ก��'��ก��#11���.�$�.����%�.�	 

,3�,$���	+
�$ 
�����,���	�� �.��ก�1ก���4�5�� <0�	+&���($#$���	%$0�	��	ก��'��ก���.�� (co-

management) �����($��������1���	�$��	�
,�ก�� #����($#$�$8�1����	%����������$8�ก� ''31�$ 

��	���ก?,��'�ก	�$��ก��'2�$�$��ก�.�,3�,$���	+
�$'2�$�$��ก�����+�,�����������	+
�$,.���$ก��

'��ก���4�5����.�	���	�&$ #��'����	�-,
/ก�1#�	ก���$�.�	> 
��$�ก'�ก��11����%�&�$8�1����	��= 

��$��-��%�,3�,$���	+
�$1�	�.�$���	%�$5��2��$
$,��
����ก��#���	#�	ก���$�%�.�$��$�2��%�������������

�$ก�����
�����	
��
� //��������&1����� �,.$ ก��������$��$���� %�&���$-��-��$5���.ก�����ก7&, 

����=ก
' '0	������'2���($��.�	��.	�.�$ �����=1��'����	%�$������	�	&��$5��%�,3�,$���	+
�$�����+��$�.� 

ก��1�$ก������$����$���	+
�$��	�$�.�5� �7&���%����������	ก�.����($�3$��	��	���$�$���  

��.�	5�ก;��� ก������$������'�7�:$�5��'2���($���	��($����������	+
�$�ก����ก�1����%��ก%�����	 

,��
�7���-�ก�
�ก�1�	&��$5���	7&�$��� (situated knowledge) '0	���	�$3��ก�6#��7�:$��������$��$�$7&�$��� <0�	

+&���($#$���	���$�ก�
,�ก��'�ก����8�ก�%�ก���$�1�$3$ '��%;$5���.�%�ก����,3�,$��ก'�ก7&�$���ก;'� 

��/�����������5����� �7���,3�,$'�5�.��7&�$����$ก��7�:$���������.�5� ��ก�
�7#��7�����$ก�����1��� 

��	,3�,$�$����4� <0�	��%��ก=�$����2��%��,&��5���.�'�,.���%������+���.�$�4�5���$�,
	�$3��ก�6��.�	���	�&$ 

�7���,3�,$�%�.�$��$��
�����%$�ก+0	#�	ก���$'�กก��������$#��	�
�7#������#����	��'�ก
��$�ก 

'0	7��������
�����	�������$�	�$�
�9
���'����	+
�$=�$�$�4���	�$��	����ก��ก2�%$�ก?�ก� 6̂�.�	> �,.$ 

%���ก���2�5���7&����� %�������7&�$����7�����ก #��ก����1�3�5w�4� ��($��$  

ก�����%$�ก�.�ก����/��������
$ '0	��ก������	ก��1�$ก�����	ก�$,3�,$��	�$����ก��%������ 

����
$#ก.�$'�ก
��$�ก ก������	�	&��$5��%�,3�,$����0ก�.����������$�	�$ก��+&����	7&�$��� '��2��%�,3�,$ 

'�����ก�
�7�$ก��7�:$�#��ก��'��ก���,�7&�$����4��,
	�$3��ก�65����.�	������ �����.�	���9�������ก
��0�$ 

�,.$ ก��������$7&�$���5�.���������	�$�%���($7&�$����$�ก����$����.�	> ก��%�$5����ก7&,�&$��$ ���&��	��� 

����
���$��#��.$ -��-��$ก�15���&$��$ #��%�$5��$3��ก�67&�$����7&���%���$5��1�	,$
�����%�-��0�$5���� 

#������	���5�� �2�$�	�����ก�1ก���2��4������	�$���� ��	�$ก�����	,3�,$,��������$.�$ <0�	�$3��ก�6�4��%�
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��$�����0�$ 8����
กก��+�	�4��7&���2�5�. ��������ก�$ก;�����+�����5��'�กก���ก;1-�'�ก��$������� <0�	��

���5����กก�.�'�กก���2�5�.  

��������	
�	�
�����	����������������������	�������ก����������� ��� �!��"�������"�
�ก��#$�"���


�!ก��	
�	�
���� ��!��%ก��ก�� ��� �&� '�(��)�������#*ก���'�!� 	
�	�
�����������%  ����#

�������
�ก�� ��*�
����+,!����������$� 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



17 

 

����� 2 


�����
��
����"�!���&ก��!����
 

 

1. ��	�+����
����	�ก��3�����1�
��
������4������ 

,3�,$%��.1��$
��������	���.�$��1��3�����#�1#������2��%�,3�,$%��.1��$
�����70�	7�

���7��ก�9���,��
���	,��� !	#��,������ ���+0	ก�����
+�,��
����70�	7��$��	 ก�����,��1��$��,��
����.�$

�
+�ก��-�
� ��	#11�2��%�%��.1��$5����1�
�9
7�'�ก��	��:$9��� �&� ��:$9���%��.1��$����$�$ก�����%��.

,.���%�&� 70�	7� #����:$9���ก��-�
�����$�$�����
���&��	����
�9

�7����
�9
-�#�����8�,$6��	�3� 

ก�.��5���.� ��	7�����	�	��($7&, )��:$9���* #�� )7&,����
$* ��	�$��� #����,�7ก���2���$��	��($

��,�7��� ���$�	 +��� #���.��+�$ก���6����#������'�-�$-�$ก;��� �ก���ก�ก;��	�	���ก�1��,�7ก��

�2� ��$��	7���  


������+�$ก���6���������$#��	 �ก���ก�,����$��	�$����;ก'2���($���	���1������.�������� 

8��������%����7&���7
��-�-�
�#�����5����	������&�$ <0�	ก�����1�����	��11ก�� �2�w��6���$��	

�$����;ก �%;$5��'�กก���7
������%��ก%�����	,��
�7�$��$��	7�����ก�0�$ �2��%������+#1.	

����
���11ก���2�w��6���$��	�$����;ก5�� 6 ����
� ���71�%;$�.�$�%/.�$
����� 5��#ก. ��11ก��

�2�w��6���$��	�,
	������ ��11ก���2�w��6���$��	�.��ก�1ก�����ก7&,#<� ��11ก���2�w��6���$��	

�.��ก�1ก���2�$� ��11ก���2�w��6���$��	�.��ก�1ก�����ก5��-� ��11ก���2�w��6���$��	�.��ก�1ก��

�����	����6#����11ก���2�w��6���$��	�.��ก�1ก
'ก����ก���-��-��$ <0�	���	 6 ����
�8�ก�����'�

������$#��	��11ก��-�
��0�$���.ก�1�	&��$5�����%������$#�.���
�77&�$���  

7����ก��-�
���	��$��	�$����;ก $�1���	#�.��
����ก�����ก��	7����$��������&���b7.�.2442 

��($��$�� �����+'2�#$ก5�� 5 ,.�	��������ก�$�&�(����	���1) ,.�	��
����$'$+0	7.�.2502:��11ก��-�
�

��	7������	��
�(2) ,.�	��
���
����� 7.�. 2503-2512: ก����
����$��11 ก��-�
���	7��������%�.(3) ,.�	 
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7.�.2513-2522: ��11ก��-�
���	7��������%�. (4) 7.�.2523-2532: ��11ก��-�
���	7�����	��&�ก 

#�� (5) ���	#�.�b 7.�. 2533-� ''31�$: ��11�3���%ก�����	8 

 

 

                                                           

8
 1�/,� ��1���6�3� #�����. ก�����1�����	����=ก
'#����	����	�ก���ก�,����$��	�$��11ก���2�w��6���$ 

��	7����$����;ก �7&��ก��7�:$��3�
�7,��
� �
�	#������ #������=ก
'������&�$�$
����� ������5��.  ��.��11��%��

�������
�� ����	����.��7
�� #���,����7��ก���.�	���	�&$, 95-109 (2005). ��$�6�
'����11���7��ก��ก��� (���ก.) ���

�ก��������6 �%��
�������,��	�%�. 
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2. ����
�ก���
������
 5#$�!�
6 ก�� 51��!�
6  

1. �������ก���!��
+��7��  

����%��ก%�����	,��
�7��($�
�	������������	�
��������6%�&�����ก���%$����	���8$8���5�. 

�����+����	�0�$5�� �7������	������ ''����&��'�ก��119���,��
���<�1<��$#���,������$ก�����	������ 

��1���6#������%��ก%�����.�	���$�$ )��$��	* '0	5�.�,.��119���,��
 '0	5�.���	ก������%��ก 

%��� #�.���	ก��ก����1�3�� ''��ก��-�
��%��%������.�ก��ก2�%$���
���$�2���	 8���,����8$8���#�� 

���������($�����.	�%��ก
�����
�9

�7ก��-�
� 7&,,$
��&�$'0	��($�.�$�ก
$#�������3������.�ก����
18� 

��	��$��	'0	���	+�ก�'��#���2����5� 

����%��ก%���5�.�7��	#�.�.	-��.�������1���6��	9���,��
 #�.��	�ก&��ก���
�	��,��
����	7&, ����6 

#���$3��6��ก���� ก�.��8���`7��7&�$����4�����3����1���6��ก ����%��ก%�����	,��
�7�%����8�,$6 

���	#�.7&,����
$ 1$�
$ #������.�$������.��	�����w�� 

2. ก����ก-�1��'�4���+���
��ก����'��ก-8����!�ก���
#��&�,  

)�4���	* ��($��:$9����$ก��-�
���	�$������7���������$#11ก��'��ก�����7��ก�8��%��ก 

9���,��
 ก�����ก��	7���-��-��$�$�4����	��
� $�ก'�ก'���($ก���7
�����5��#ก.������&�$��	����	,.�	 

��	ก�����ก�4��%�,3�,$5����ก��	%$0�	 ���	$����$��	7������'����ก�$��11-��-��$ก�1�4�5�����	5�.�,� 

������� �7���'���($ก���2��%��
$��&��� ����������<0���.�
$ก;'��2����#%�.	$�2� #������	��7
���	��ก�� 

��$��($-�ก���1�$�	ก���	 ��.�	5�ก;��� ��$��	7���������ก�$��11�4�9���,��
�����+����$�3$ก�� 

12��3	7�$9365�� �7���9���,��
�����1���6'���($� ''���ก&��%$3$�.�ก����
18���	��$��	 ����#�;	#�	��	 

�2���$ #�����+0	ก���%���
���$�2���	����7
���0�$ �$��ก����,.$$�� )�4���	* '0	��($ก���,����8�,$6��1��.ก�1 

ก���$3��ก�65��$���������ก�$ 

����%;$5��,���'$ �&� ก�������$5������.�	��	�$ )��$��	* �2��%�5�.����ก5��������,.���0�%$���
$ 

ก�����4�,.���%�$�2�5�.ก���<��%$���
$ ��$5���$�.�	��	��	,.����($�ก���ก2�1�	��#ก.��$��	<0�	��($��$5������� 

��ก���$ ���	.�� �$������$��$��	ก;5�.#%�	��� �
$ก;5�.#%�	 �7������4������ก������,3�,&�$���5�� #��%$��
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��	ก;5�.#%�	��.�	�$ )��$��	�,
	������* )�4���	* '0	��($#%�.	����	$�2�,3� �
$`�2�#���&$���� ���3���.

9���,��
 �$��	$
����
��� ���'�ก���	$�2��$�4� ���ก�1���� 3 � ''��%��ก � ''��#�ก �&���
���$�2��$

#��#�	#�� ��$��($� ''��9���,��
���5�.�����+��1�3�5�� � ''�������	 5��#ก. ��ก���
��
������ <0�	��($

�����1�3�ก��5%���	$�2�-
��
$ ก�1���������+�$ก�����<�1$�2���	�
$ <0�	'���,.�	�.�	%�&�����7�3$�$

�
$ก�1�����0ก��	,��$�
$��($�����1�3�ก��5%���	$�2�����
$ #��� ''����������($� ''����3	#�.	 (%���+0	

� ''������$����5���1�3�5��) ��($� ''���2���/ ����3� �&� 7&,��3��
$ <0�	'���($���#1.	$�2�5���.$�2�-
��
$%�&�$�2�

����
$ �$#	.$��'��%;$5��,���'$�.� � ''���3�����$����($ � ''��������	�������:$9���%�&�ก��'��ก����	�$3��6

����5����
��7&���%�������������+�$���'�ก���	$�2� �$9���,��
�7
����ก�0�$ 

-���2�$��ก���.�$�
'����$$�2� �2�$�ก�$3��ก�6#��'��ก����$$�2� ก���3���$ #%.	,��
 ����6�4�#�� 7�$936

7&, �9
1���.�1�1���2���/��	���'�ก�$�2�'0	���.���7&,��3��
$ <0�	7&,��3��
$�$�4�9���,��
9 '2�$�$,��$ 

��&�$��� '���($�����#�	������	��;��$ก�17&�$�
$ <0�	71�.��$�4�9���,��
,��$��&�$����%�.�$�������+ 

��	��1��;��$5��+0	 13 �
��
���� 8��%�ก�$�ก�$��
���$�����;��$'0	��''��ก5�.+0	7&�$�
$ ��ก���	<�ก 

7&,<�ก����6 1$7&�$�
$����.�	�����1+�ก�$ก;��	�����+<�1$�2�5��+0	 20 ��.���	$�2�%$�ก#%�	��ก����  

�$�4�9���,��
 '0	�����	���������+�ก;1ก�ก$�2��$����17&�$�
$#��$�2������1���	��.����
$ <0�	%�ก 

'
$�$�ก���.�5� ก;'��%;$�.�$�2����7��
$�	5��0ก��.�5� �������������	�
$,��$�.�	 ก;'��
�	#$.$ ก����1��

$�2� ก��<0� ก��5%� ��	$�2�ก;$����	 #�.+�����	-
��
$#������
$5�.�����������+�$ก��<0�%�&� �%�$�2�5%� 

-.�$5�����%�&��2�5��$�����ก ���'�ก���	$�2��$�4�$��$ก;���	������$5� ��&��	ก��������$#��	 ���������+

�$ก���ก;1ก�ก#����1��$�2���	�4�9���,��
 '��%;$5��,���0�$ ��&��$2�������1ก�1��
ก
�
�� ��%�.�	�
$#��$�2�

�$��$��	7��� �����;''�
	����.� 7&�$�����$��	��($ก���2� �ก���,$
�%$0�	 #����($ ���#11ก���,�

���8�,$6����
$�7&��ก���ก������13ก�3ก7&�$����4�5����	�������� ��.�	�.��$&��	 '�กก��#�� 
�7+.����	

��ก��'�ก7&�$����4����	%��71�.� 7&�$�����$��	��ก�����ก����	 �7
���0�$'�ก 10.77 ���$5�.�$�b 2529 ��($ 

12.25 ���$5�.�$�b 2539 #���7
����($ 15.43 ���$5�.�$�b 2552 

 

                                                           

9
 '�����&�$�����	�3� 5 ,��$ �,.$ �$�4��	�
1 %�&���.�	$����3�ก; 2 ,��$ �&� ,��$��&�$�����	��$5��ก�1,��$��	%/�� 
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3. ก��1���
�'0�����
1�
��  

��($������1ก�$��ก�.� ก�����1������$��11ก���ก�����.�
+�ก��-�
���	��	��	��
����� $2�����.ก��

�����5����	����=ก
'������$�	#��1�	�������	�������	���	'�กก���2���$��	 #�.�
�	�2���/���5�.71'�ก ก��

�2� )��$��	�,
	������* ����$�$����=ก
'��($�2���/ ก;�&� �
�
���$��	�� <0�	'�71��ก�$��11 )�4���	* �7���

$�ก'�ก�4���	'��%����8�,$68����	�$��	����=ก
'�2�%��1�����	���1������	-��-�
�#��� )�4���	* ��	

����	������2������	��	���%�ก�1�$��1���	 ,3�,$ #����	����	-��-�
�5������ ��	���71�%;$5��'�กก�� 

7���3���	,��1��$����0ก���.� 

-���
���� (�ก��!� ������/��0����) 
"�ก2 ����#���ก2�����+�+,!   

 ��$����+�ก���"��� ����กก2���+,! �
ก"���!���
	!��(��	�3+,!4 

�%;$5��,���'$�.� ������2����'�ก )�4���	* #��'�5�.��ก��&�������1����1ก�1���5��'�ก )��$��	

�,
	������* #�.ก;��2�����7��	7����'��,�'.��#����	�����+#1.	� $�%�ก�1-���&�$5������ <0�	$.�'���($ ����%���

��	����������#��'�
	 ��:$9�����	�����ก&��ก��#��#1.	� $ก�$��	�$�$,3�,$ '0	ก�����($ �3$��	

��	�� ���'2���($�2�%��1ก������	
��
�3��ก�$��	��	�� 8���`7���$,.�	�+�$ก���6�
ก���
�	#������ �����'

5����1-�ก���1��.�	�3$#�	#�����	�����ก��-$0กก2���	��	��	���$ก��,.���%�&�#���.���&�ก�$ 

 

3. ก��19:&1�!������ก��3�ก�������)��
1���
����&ก-��ก��� �! ��3�ก������
��; 

1) ���������
������&ก-��ก��� ก����/��������
$�&�ก����/�����
�9
�$ก���,����8�,$6����
$

��.�	������
�9

�7#���ก
����8�,$6��	�3� �ก���ก�5������
$���+�$���($7��	-���,.��7&���2�ก��-�
� 8��

��'�,.��2�ก
$�$���$���	$���3$%�&���'���	�,���2�ก
$�$���$���	�$��	 �2��%��ก
� )����5�.���$�	* �$ก��

���ก�1��,�7 #���ก
���������0ก )#��ก#�ก* %�&� )����0ก��($�&�$* ก�1����
$����2�ก��-�
� �ก
�ก���,�

���8�,$68��5�.+$����ก���$&��	'�ก5�.�ก
��������7�$96ก�1ก���,����8�,$6����
$$�ก'�ก�7&���%��ก
�

���8�,$6#ก.�$��	��.�$��$ 
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2) ����&��*����;=�
������!�ก"� #���������#��	��	,$,��$ ����#�ก�.�	�$ก��+&����	

����
$#���$��ก��-�
����#�ก�.�	�2��%��ก
������%�&�����2���	����=ก
' ����5�.��.������ก�$�$ก��

ก��'�����5����($��$�.��2���/��	������ก'$ 8���`7��ก��5������
$�2�ก
$%�&�������
$�2�ก
$�$����;ก

��($�3������2���/�$ก��-�
��%��ก
�����
�9

�7#���	�3$�$ก��-�
�
���ก��� $�ก'�ก$��ก��+�ก���

�����1���$�.��,.� ก��+�ก�������.�'��	�2��%��ก���ก����.�$=�$����������1$���3$#��ก�����($���%�3��	

�������#��	��	,$,��$��%�.�	�ก���ก�%�&�-���,.�ก�1$���3$�'����	����
$�0�$  

3) ก�����'07��+�����������
&ก-�� '�ก�
�7������/������	����=ก
'$2�5���.ก�����8�ก��

��	��	�����	8�ก����	ก���0ก�� ก���}ก�1����ก����,�7 ก����11�
ก��'�ก��= %�&�ก��5����1����

,.���%�&���	ก���	
$%�&�ก�����
$�,&�� �$&��	'�ก�ก���ก�5������
$��ก+�ก��	�.���($ )�$5�.��%��ก���ก�$

��	��	��* %�&� )�$5�.������
�* ���+0	5�.��7��	�$ก�����	ก�3.�-����8�,$6�7&�����.���	�2�$�'��	

$8�1��'�ก��=%�&��	�6ก�1�
%���$���	+
�$5�� ��ก���	��	�.	-��.�ก��5����18�ก��#��ก���$�1�$3$'�ก

%$.��	�$�.�	> ��$�2��%�ก��7�:$��3�
�7,��
��ก���ก�5������
$�ก
��0�$5����ก��ก 

 

4. 
����"�!���&ก��!�ก��ก���+�#��)!+�8��������
+'�+���&��#$� 

ก�����$6 7�%��
	%6 #�� �3�
� ��	����$6 �0ก�� 5,�ก!7����
+'�+���ก��"��ก��#$�����;=� 

&�*�ก&����������"�
�������
6 �2�1�$�,3��%;� �2��
��.�$����� '�	%������	 -�ก���0ก��71�.� 

,��1��$'��2��	,��
�8��ก��70�	7��4�#�����
9�ก����#���ก���4�-.�$��11������� �����,&�� 
��
� //�#�� 

��:$9����.�	>��	,3�,$��ก��1�$ก��'��ก�����7��ก�8���$�$ก�����.�$�.����	,��1��$�$,3�,$ #�� 

����������#�;	��	ก?���1��1 ���1�	��1��	,3�,$ <0�	�
�	�%�.�$����($ �.�$���#��	�%��%;$+0	��ก�
�7��	

,3�,$ �$ก��'��ก���4���$$2�� 8�����	&��$5�����.	-��.���ก�
�7��	,3�,$ 5��#ก. �3$��	��	���.�	>�$

,3�,$ ��������#�;	��	-��$2�,3�,$ ��11�������7�$96 ��	�$�$,3�,$ ก����ก�3.�%�&��	�6ก���	��	���$

,3�,$ #��ก���
��.��&�����%�&�5����1ก���$�1�$3$'�ก%$.��	�$
��$�ก 

�$ก�����	,3�,$��8%��$��$�$,.�	�	����8�ก����	���2 (�b 2484) '$ก�����	��=���ก���%�7&�$����4�

�$ �2�1���8%����($�����ก��7�$936����6�4����1����� (�b 2517) ,3�,$��	�	70�	7
	���7��ก��4�5����($

%��ก  #�.������$���#11ก���,����8�,$6'�กก���ก;1�ก����-�-�
�'�ก�4��7&����($��%��#���,��$
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,��
����'2���$  ������	ก��<&�����#�ก������$��%�.�	ก�$ ����($ก������13ก�1
ก7&�$����4�1$�����1�7&���,�

����
$�2���$��	7��� #���2�$�#�$ 8����� ''��
���$�2���/%������ก������&1�$&��	��'�ก
���8�����

��	������#���.	-� ก���1�%�,3�,$�ก
�ก������$���#��������$#��	���#11��	ก���,����7��ก������%�.

�$,.�	%��	�	����  1�����$'�ก
���������ก%��ก#7	�$,.�	�	�����2��%�,��1��$����
$�'13ก�1
ก

7&�$����4��7&���2�$���ก�0�$ �7&���������$�	�$���$��%��  #��ก����$����������ก�
�	�0�$  �.	-��%�ก��

��������������.�	�����ก�0�$ #����	7���#-.$�������� �2��%�,��1��$13ก�1
ก7&�$����4��7&�����ก��	7���

�7
���0�$ 

ก��#��&����9������
&,�-.,�1��8��
#$�+'�+���7����� : ก�0�,?ก-�#$�+'�+�&�����

+��
 �=�����)��� �=�&7���)��� "�
��������'
 8�� ��.������ก��6 �3.	����$��&�	��� ���ก��'��ก��

�
�	#�� ���� �%��
�������	���$��
$��6 ก���
'��$���2��$
$ก��8���,�ก���
'���,
	�2���'#��ก���
'��#11��

�.�$�.�� 8��ก�������
$����.���	����=�����6 ก2�%$�ก�������
$����.����$�.�	 > ������	�
�$ 8 ���$ 

���ก�1���� ����.����$�$&��5�� ����.����$-�-�
��$�����	��	�4� ����.�ก���,����8�,$6�7&��ก���.�	������ 

���$�0ก�� ก���1����	�$#��'��ก
'ก��� ����.�ก���,����8�,$6�7&��ก���0ก���
'�� ����.�ก����($#%�.	��$

$�2��2�%��1 ก���3�8
�1�
8
�#��ก���ก��� ����.�ก�����<�1ก��<���61�$5���ก5<�6 ����.��-&��'��,�

���8�,$6�$�$��� #������.�ก���	���. 8�����
9�ก�������
$#��-���	ก�������
$����.� ��	$�� 

  - ก�������
$����.���
���5�� (���ก�1���� 5���%/. 5��%$3.� ��ก5��#��ก���5��) �2�ก�������
$

8�� ก���2���'��
���5�����	%������
9�ก���$�����6 8���.���&�ก�1�'��%$������4�5�� #��$2���%�����.�

�3�9
 8���
9�ก����������#���
9� Replacement Cost Approach -�ก���0ก��71�.� ����.����$�$&��5����

����.� ��.�ก�1 1,239,472,778,.69 1�� <0�	���ก�1���� ����.��3�9
��	�$&��5�����	%���$�4�,3�,$���%��

,��	��.�ก�1 1,132,472,778.69 1�� ����.���	5��%$3.��$�4�,3�,$���%��,��	��.�ก�1 52,636,851.54 1�� 

#������.� ��ก5�� #��ก���5�����	%����	�4�,3�,$���%��,��	 ��.�ก�1 54,105,503.75 1�� 

  - ก�������
$����.���	-�-�
��$�����	��	�4� �2�ก���2���'8���,�#11��1+�����ก�1ก�� 

���
���6-������,����8�,$6'�ก�4��$�����	ก���ก;1%���	�4����	%�� 8����ก���3.������.�	'�ก'2�$�$ 

���,�ก� ���%��กก����	�+
�
 �7&��$2����������,��$ก�������
$����.�#�������
$8���
9��,��������� 

8����-�ก�������
$����.�-����8�,$6�3�9
����b��	-�-�
��$�����	��	�4����5��'�ก�4�,3�,$���%��,��	
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���	%����	ก�3.����,�ก����5��'�กก���ก;1%�-�-�
��$�����	��	�4�'�ก�4�,3�,$���%��,��	 ��.�ก�1 

2,420,325.93 1���.��b '�ก'2�$�$��	�4����+�ก�ก;1%����	%�� 85 ,$
� 

  - ก�������
$����.�ก���,����8�,$6�7&��ก���.�	������ ���$�0ก�� #���1����	�$ �2�$��'�ก

�.��,�'.����2��3����$�ก�.�	���������	'.��5��7&��ก�����.�	�������$�4�,3�,$���%��,��	 -�ก���0ก��71�.� 

����.�ก�� �,����8�,$6�7&��ก���.�	������ ���$�0ก�� ก���1����	�$#��'��ก
'ก���������.� � �b 7.�.

2548 ��.�ก�1 40,418.08 1�� 

- ก�������
$����.�ก���,����8�,$6�7&��ก���0ก���
'�� �����
$8���
�'�ก�.��,�'.������ก
��0�$��	

ก�� �0ก���
'�����	%������`7���'��'	�0ก���$7&�$����4�,3�,$���%��,��	 #��$2��.��,�'.����	ก�.�������1

��($ ����.� �$�b� ''31�$����2�ก���0ก��8���,������ก�����1�����	��,$�����-��1�
8
��`���� <0�	71�.� ����.�

ก���,� ���8�,$6�7&��ก���0ก���
'�� ��&�����1��($����.��2�%��1�b 2547 #���������.�������	%����.�ก�1 

811,591.35 1��  

- ก�������
$����.��$ก����($#%�.	��$$�2��2�%��1ก���3�8
�1�
8
�#��ก���ก��� �����
$'�ก�,� 

����3�
�
��
�$���$��
���ก���,�$�2�'�ก�4�,3�,$���%��,��	 #���2�$��8���,��
9��������� %�&�����

�
$��� ��#�$ 71�.� ����.�ก����($#%�.	��$$2��2�%��1ก���3�8
�1�
8
�#��ก���ก��� ������.�������	�
�$

��.�ก�1 3,928,713.69 1�� �.��b <0�	���ก�1��������.���	���8�,$6'�ก�4����%��,��	�$���$ก����($#%�.	

$�2�<0�	5%� ��'�ก�4����%��,��	71�.��7&��ก���ก��� ��.�ก�1 3,767,927 1���.��b 

- ก�������
$����.�ก�����<�1ก��<���61�$5���ก5<�6 �����
$'�ก��
������61�$5����ก5<�6���

�4� ,3�,$���%��,��	�����+���<�15���.��b ���ก�1����.�ก��12�1��ก��<���61�$5���ก5<�6�`���� 1 %$.��

��
��� 71�.� ����.�ก�����<�1ก��<���61�$5���ก5<�6������.��$�b 2547 ���	%����($�	
$ 2,308,096 1�� 

- ก�������
$����.��-&��'��,����8�,$6�$�$��� �����
$8���,����$
�ก�������
$����.� CVM 

(Contingent Valuation Method) 8��ก����1+��������;��'���'�'.���7&����ก���4�,3�,$���%��,��	5���,� 

���8�,$6 �$�$��� -�ก���0ก��71�.�����.��-&��'��,����8�,$6�$�$����2�%��1���,�ก��$��� 14 

'�	%��� 
�������.�ก�1 247,008,300.80 1���.��b #��ก�������
$����.�ก���	���. �����
$8���,����$
�

ก�������
$ ����.� CVM �,.$�����ก�$ 71�.�����.�ก���	���.�2�%��1���,�ก� 14 '�	%���
����� ��.�ก�1 

139,286,548.80 1���.��b ���	$�� �.���������
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��ก���+�#��)!+�8��������
���� ��&��*� 

1��$5�.�%$&����$&��������	%�������� 5,051 5�. 8���,���($������.�����#������
$�2�ก
$��	,��1��$ 
179 ���1���� �$����1��$5�.�%$&����$���.������7��	5�.ก�����1�����$&��	'�กก����$��������	5�.����ก 
���	��
$�����,�����$�1��$'0	'������+�	��+0	,3�,$���$�.�	 ก�����������	+
�$=�$�$�3�#�ก'0	�$�$ก��
13ก�1
ก�2�5�.����#���2���$���ก7&,���'2���($�.�ก��1�
8
� �,.$ ��7���� ����� %��ก 7�� ��($��$   
           ก���2�5�.���ก����#��7&,-�ก �,.$ ��
�$ �
	 7�
ก5�� 7�
ก���%$� +��� [�[ ��($��11ก��-�
�%��ก
��	5�.�%$&������	#�.�3�ก.����	,3�,$ ��($��11�ก�����$��($
��
� //�,3�,$����$�$�2�%��1ก��1�
8
�
�%����2�%��1ก�����	+
�$=�$1$7&�$�����	<0�	ก����$���5�.����ก ก���2�5�.�����$7&�$���1��$5�.�%$&���
����
'2�$�$��$����	%��	ก��#�ก�����ก��	7���<0�	7&�$���5�.5��+�ก������$��($�����$#11+��� ���ก�1ก�1��&��
��ก��1�	��1�,�ก?%����3���$#%.	,��
<0�	���2����	%���5�.�%���ก���-�5�.��.�	��;�����
+�ก��-�
�#11ก���2�
5�.'0	%��5�'�ก1��$5�.�%$&���.�	�
�$�,
	$�1���	#�.�b 2541  8��� ''31�$�����+#1.	���#11ก���2��ก���
%�&���11-�
���	1��$5�.�%$&���ก��($ 3 ��ก��� �&�  ��$��	  ��$����#11���	��
�#����$#11
-��-��$ ( ��$��������	�%�. )8��#�.�����#11����ก��� ��	$�� 
 

       ���	�� ��($��11ก��-�
������ก�����ก��	7����7��	
��.�	�����%�&��������5�����ก�.� ��$��	�,
	������ <0�	� ''31�$��($
7&�$����.�$�%/.��	����
$�2�ก
$�$1��$5�.�%$&� 8���$�3���
��#�ก

��	���$2������ก��($��	7���7�$9367&�$��&�	�,��
9�ก�����ก
�.��ก�17&,,$
��&�$ >    #�.
��%��	��&��ก�����ก��	7�$936����
��

#7�.%����0�$�$7&�$���
��������ก�1ก�1ก���������$�1�$3$
ก�����ก��	��	ก�	�3$�	�����%6ก���2���$��	 ( �ก�. ) 

,��1��$�$,3�,$'0	���1������$�����ก��	7�$936���$&��	'�ก�%�$�2���	
��กก�.� 8����ก��'��ก����$�%�8�.	����$#�����ก��($#+���($#$����
�	&��$5���	ก�	�3$[  
 
 #�.��.�	5�ก;��������
�7
��
������ 
��
��ก��#�����7��ก�9���,��


�����	�	�������3����1���6���ก�1ก�1ก���2�ก���ก��������	5�.��ก���,�
����������1��,7&,�2��%���$��	��	1��$5�.�%$&�����ก������7&,��3��
$

<0�	��($7&,���'2�+
�$8���`7��7&,��%���0�$���.��.�	%��ก%���,$
� 
#�ก�.�	'�ก��$��	�$,3�,$1$7&�$�����1���������8�.	����$5�.��7&,��3�
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�
$  	�$�
'��$��5���%�$
���ก���2���$��	��	,3�,$5�.�%$&��.���($ ���	��ก
�"�# �$&��	'�ก�$��$��	
�
5������	�7��	��.�	�����#�.��7&,�&�$ > 8���`7��7&,��%�����%��ก%���,$
�ก��'�����.�$��$��	�����3ก
#��	 
 
 

1��1���
����;
&��� %�&���$7.��:.� ��($���#11ก���2��ก���#11���	��
��2�%��1,3�,$������.
�$�����&�ก���%�&�7&�$�����	��	
����� ����ก�����	ก�����ก7&,-�5��7�$9367&�$��&�	���	��
� �,.$ �3����$ 
��	�3� ��7���� %��ก ���3� ��ก2� ����� ��($��$ <0�	�$����ก���2���$������($��11ก��-�
�%��ก��	
,3�,$1$7&�$�����	��	
����� 8�����+3����	�6%��ก��($��11ก��-�
�����$�$ก��1�
8
��$������&�$#��

���$,3�,$��$����8������5�'�5�.��ก�����ก��	7����	5�%�&���$�����ก 8���.�$�%/.7&�$�����$��
��'����.1�
������,3.�,&�$�
�%��� ����+0	1�
�����1 > 1��$��&�$%�&�������	,3�,$� ''31�$���#11ก��-�
�
#11��$������7&�$�����$����	��ก�$&��	'�ก%������%�3���	�$#	.-���1#�$��	����=ก
'�����$�����&��
����1ก�1ก�����ก7&,�,
	������ ����+0	7�$9367&,7&�$��&�	�$��$���� �,.$ �3����$7�$9367&�$��&�	 %��ก 
'2����� 5�.�.����($���$
�� 8��� ''31�$��$�������	��
�5��+�ก������$�
�7��($��$��	%�&�$2�5��,�
���8�,$6���$�&�$ >  
 
 

1��
��31�31�� ( 1��1���1���
���� ) 
�&� 7&�$��������ก�����ก��	7���#�.5��$2�7&,,$
��&�$ > ����
5����ก���
� ก�$  �,.$ -�5�� ��	�3� �3����$ ��	ก�	 
����+0	7&,-�ก��$�����&�$ >  ���	$����'��($��ก��������
��$��	���.#���#��$2�7&,,$
��&�$ > 5����ก#<� %�&� 
��($ก�����ก����	7���� > ก�$���	��	7���#��7&,,$
�
�&�$ > �$��ก������-��-��$ก�$5� ��$#11-��-��$��
��ก����������0	ก�1��$�������	��
�#�ก�.�	ก�$�7��	��

ก�����ก��	�.������<0�	��$�������	��
��$�$ก�����ก
-�5��#��5���&$��$�&�$ >��($%��ก� ''31�$���#11ก��-�
��$��ก���ก���2���$#11-��-��$��
����ก���2�
ก�$��ก�0�$�$7&�$���1��$5�.�%$&� 8���`7���$ก��������ก�����ก��	�%�. 
 

   ������'�กก���2���'����
$�2�ก
$��	1��$5�.�%$&�71�.�����.�$��	���#11ก��-�
��$��ก�����	
��$��	�������� 4,026 5�. %�&������������� 80 ��	7&�$���#����7&�$����������ก�����($��$�������	��
�
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#����$#11-��-��$�$&�����'2�$�$������  1,025 5�.%�&������������� 20 ��	7&�$���� ''31�$ก���2�
�ก����$��ก�����$����#11���	��
���'2�$�$�����$����	 �$&��	'�ก7&,������ก�.�$�%/.��($7�$9367&�$��&�	
5�.�����+�%�-�-�
���.�	��;����#��1�	�.�$5��������$#��	7&�$�������.ก���2���$��	<0�	�%�-���1#�$��	
����=ก
'�����ก�.� �$��������$#11-��-��$%�&���$��������	�%�.��#$�8$���7
����ก�0�$8���`7��
7&�$�����$��	������.�ก��1��$��&�$<0�	�����+�%�-�-�
����	�$�.�$��	7&,����=ก
'�&� ��	 ������	-�5��#��
7&,-�ก��$����,$
��&�$  
 
4. �������ก���!��
�*+�������+'�+����� ��&��*� 
 

   ����������
ก�����	+
�$=�$���������.�	�.��$&��	���$�$���ก�1ก�1�
�7���7&�$���<0�	�������3��

��1���6�2��%�1��$5�.�%$&���7�$9367&,��%��<0�	��($7&,���'2�+
�$����0�$��	���9���,��
#����($7�$9367&,���

$2������ก��.�	%��ก%��� �$����ก���2�5�.������($��11�ก����������	7&,��%��%���,$
� 8��������

'�กก����1+���$�$,3�,$�������2�5�.��13�.� ก���2�5�.�����+�����	���1����5��8��5�.���	70�	7���%��

'�ก
��$�ก%�&����	70�	7�$�����ก8���`7��ก��������ก
$�������	�b � ''31�$ก���2�5�.����5��+�ก���	%���

'�ก$8�1��ก���$3��ก�6�4�5���2��%���7�$9367&,5�.��.�	$��� 13 ,$
���/%��5�'�ก7&�$���1��$5�.�%$&� 5��#ก. 

����5�.  �
	 1�$%��  +���5�.  #��  ����w4�	  ��&��  ����87���	  -�ก�����$ #�	5�. w ก��	5�. w ก����� 

-�กก��5�. #���$� ''31�$71�.��3ก���1������	1��$5�.�%$&����	<&���������'�ก
��$�ก��%��  

   '�กก���2���'1�
����4�,3�,$ ����
$�2�ก
$#��1�
���������.��������	%����	1��$5�.�%$&�717&,

��%�����	%�� 243 ,$
� 8��#1.	��($ 

   �*+3�ก����=������)7�&#K������ 71���	7&,���'2�+
�$����0�$��	���9���,��
#��$2�'�ก
��$�ก��

���ก
���$,3�,$'2�$�$������  144 ,$
� 8����($7&,���'2�+
�$����0�$��	���9���,��
'2�$�$ 72 ,$
� 

5��#ก.  1�$�2� (1�ก�2�) 1�$����� (1�ก�����) 1�$������$6 -�กก�� -�ก,�����	 (-�กก�� 3̀$) 1��1ก ���%��

#%�$��&��	,��	 ก�����4� (ก�����+&��$) ��ก`
�	ก���	 ����&�7�	 ���0ก �&� 13ก	��%�&�� %��ก%�ก     �%���	 

�2��7;	 -�ก#%�� -�ก%$�� 7�8%� (�.�$) ��%���4� �7ก� ����� ������,&�ก ��1��&�5-.�ก��1 �.���;ก %�2�

���� -�กก��$ก��� -�ก,����� ��	���� 5-.�4� �2���	 ��	,��	 ,�7�� %�3� �������$ก �2�#7$ ��$%�� 

ก��� +��������� (5�.) �.�$$�	 ������� +�����ก (� ก5����ก) �%;����ก �%;�'�$ �%;�#��	 �%;�������� �%;�

%��
	 �%;���� �%;���$,��	 �3�,��	 -�กก����;1 ���� �����	 -�ก8�� ���7���5w -�ก�����$-� '
ก  7�8%���$ ���
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7���#�.%�ก �3� 7 �1 5-.�2���ก 5-.8�����������$ก��$��
����-�กก��,��	�ก,��	%��8�$7����$ก�3��#����($

7�$9367&,���$2������ก'2�$�$ 72 ,$
�5-.�	 5-.���3ก �$��	ก�+
$ (���1�) ��ก�����$���� (��กwก)����� 

��;1��3^-�ก%��$ ���
	�e	����ก���5����.���$���7�
ก5��7�
ก���%$���$��� (����
1) -�ก�����	,�����$

%����$�� ��%��1��$  13ก (1��$) #�  #�	��ก ก��7��#�	 8%�7� ����ก��1 ก�8�$����� (��$) ��
�$

����%�;ก 7��-�กก��`�-�ก#�.$���%��-�ก13�	1��ก��กก���'���11�1%�������&�	 �
	  �����
��� (%��ก���� )

������$ ��$�2�5-.%��$ ����&������ ���.�	%
�7�$w ก����� (���7���) ก����$�2���� ก����%��ก����5�.ก����

����� ก����%
$ ก������;1�&�$�	 ก������ ก���������ก������	�.�	  ก������$� (7�	��)-�ก�����$1��$ 

����� ก��7����� ����&�ก
$�1��$���%$���1�������� ��/,�$��$-�ก,����+���7�����%����%��ก 

  3� �� ���	-�5����������.�$9���,��
#��7�$9365��-����$2������ก�$�$����
$�2�ก
$���'2�$�$ 52 ,$
�

5��#ก.  ��ก��� ����
	 �����	 ��ก2��4� ��ก,ก (��ก,
�) ��กก� ��ก5wก� ��ก����$ �	���4���ก5w�� ��ก8ก 

���3��4� ���%�����ก%����3����$7�$9367&�$��&�	�3����$7�$936��'2������$3$��7����#7��� ���.�	 �����ก2�

%��$���3�����	�3����$�����	ก�	��	����	����ก�ก��	�3�#ก����	ก����1��1�
�,�7�.��#%�ก,�7�.       

($�2���ก5��) �ก������5w1��$���	,
� %���'2�5%���5wก���5w�
	 ��5��������3���ก��ก�����$#����ey�

$�2����8� �$3$�3� 

�*+1�'� �� �2���'71���	�$1�
����4�,3�,$#������
$�2�ก
$'2�$�$ 47 ,$
� 5��#ก. �.�$ก�1��� 

�.�$,�ก����ก %��57�%���������
�$��������������1����7;� �.�$%�	'��������$
$����7�	7�$��
�$����

%�������ก��,���2���	'&�%��'�$�3�$� �';�%��$�7�
	 �7,���� �����ก�.�$ ���;���	���1�$$ก

%���������&��2�5����������.�� ��ก�1�.�2� ���3� %��1�$��;$8,8������11�$5�.���8�������$�3� 7 �1%/��

��$ก�8�.5�.��������7��8� �7,�%0	 #ก.$,�ก��ก�3.	w��ก����%�����%�;ก�
$�$
$5%��-&�ก%/��%$��#��

�.�$���7�$�0	��	ก���ก����3�	�&���� 

�����	�ก�����2���/71�.�7&,��%������2���'71�.�$�%/.'������.�$����
$�2�ก
$���	����0�$��	���

9���,��
 �,.$ �$��$��	7�����$�������	��
�%�&���$#11-��-��$ #����($7�$9367&,���,��1��$$2���

���ก���
�8���.�$�%/.7&,��%���%�.�$���2���'71�$1�
���1��$��&�$#���$����
$�2�ก
$���	 3 ��11 ���7��	

������  14 ,$
���.�$��$���715���`7���$�4�,3�,$ ���	$��	�$�0ก��5���,��
9�ก���2���'7�$9367&,��%��'�ก

��11ก��-�
����	 3 #11 �$7&�$��� 20 x 20 ����%�&� 1 �.�$ 4 5�.  �7&�������
$���	�$#	.��	��
���#��

����%��ก%�����	,$
�7�$936�$��11-�
�#�.��#1171��������	$�� 
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#�
!�
��
 ��!1���� ���
ก����	7��������3 10 �b 7&�$��� 20 x 20 ��������	7��� 40 

��$�2���'717&,��%��'2�$�$ 11 ,$
� 5��#ก. ��$��
���� 50 ��$ ��&��	,��	 6 ��$ %�2����� 20 ��$  �3�,��	 

1 ��$ 7����$ก�3�� 5 ��$ ก�����4� 5 ��$ #<� 2 ��$ ก�1#�� 1 ��$ `
�	 ������ 100 ��$ 1�$���#��1�$

�������0�$ก��'�����.��;�7&�$���   


#�
1��1�����
��!&��� ������ <0�	��($��$�������	��
� ���3��กก�.� 40 �b 7&�$��� 20 x 20 

�����2���'717&,��%��'2�$�$ 17 ,$
� 5��#ก.  ��ก2� 1 ��$   ��	�3� 14 ��$  %��ก 100 ��$  ���3� 2 ��$  

�����	 1 ��$  ����� 1 ��$  '2����� 1 ��$ -�กก�� �0�$ก��'�����.��;�7&�$���  �3����$7�$9367&�$��&�	���3

������ 70 �b   11  ��$  -�ก%$�� 5 ��$  1�$������$6 ก��'�����.��;�7&�$��� �3����$7�$936��  3 ��$  ����&�

7�	 4 ��$ ก�����4� 4 ��$ 
̀�	 18 ��$  1�$��� ก��'��ก��'�����.��;�7&�$��� -�ก���%��#%�$ 20 ��$ 


#�
1��
��31�31����
 ��!�����  �!9���
 <0�	���ก7���� > ก�$���	��	#��7&,,$
��&�$ >

7&�$��� 20 x 20 ���� ����	7��� 41 ��$ �2���'717&,��%��'2�$�$ 30 ,$
� 5��#ก. ��ก��� 1 ��$  

ก�����$ 1 ��$ '2����� 1 ��$ ����� 2 ��$ ���
	�e	 1 ��$ ��7���� 5 ��$ %��ก 7 ��$ 7�
ก5�� 6 ��$ 

���.�	 3 ��$ ���3� 3 ��$ ��1���� ก��'�����.��;�7&�$��� ��	ก�	 5 ��$ ��$�� 3 ��$ -�ก%��$ 100 ��$  

ก����5�. 5 ก� ก����$�2���� 4 ก� ����ก� 2 ��$ ��$�2���%��	 ก��'���$7&�$���  ����&�7�	 ก��'�����.��;�

7&�$��� ����&�7�	ก��'�����.��;�7&�$��� ���� 4 ��$ `
�	 ก��'�����.��;�7&�$���  ��&��	,��	 3 ��$ ��$��� 2 ��$ 

��ก2� 1 ��$ ก�����4� 3 ก� ���0ก 3 ��$ ��5��� 5 ก� -�ก,�����	 30 ก� #ก����	ก� 2 ��$ 

������'�กก���2���''2�$�$7�$9367&,��%�����71�$#��	�ก������	 3 ��11#��	�%��%;$�.��$�$&����� 

20 x 20 ���� %�&� 1 �.�$ 4 5�. ������%��ก%�����	7&,��%���$����1�����	 8���`7����$�������	��
�

#����$#11-��-��$#��#���$��11�ก���#11��$��	<0�	��ก�����ก��	�7��	��.�	�����8��5�.5�����ก

7&,�&�$���ก��1�2���'717&,��%��<0�	��($7&,���'2�+
�$����0�$��	���9���,��
+0	 11 ,$
�ก��'�����.����

7&�$����2���'  

 
5. ,�ก!7��ก���?�
��&�
�����������
+'�+����� ��&��*� 
 

������'�กก���2���'7&,��%�����	�$1�
�������
$�2�ก
$#��-&$�4�,3�,$��	1��$5�.�%$&�<0�	717&,
��%��ก�.� 243 ,$
��.�������$�%��%;$+0	#%�.	��%����������.��.�	%��ก%���#���3����1���6 8��
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	�$�
'��5��$2���$���%��<0�	��($��$����'2���$��	,��1��$����5��$,3�,$��#�ก���+3�
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$�3$�$ก�����ก��	#ก.

,��1��$5�.�%$&������	#�.�b 2534 #����	�1ก���%�ก���$�1�$3$�	
$�3$�7&�����ก��	�%�.�$7&�$���1��$5�.�%$&�

���	#�. �b 2541 �$&��	'�ก� /%���1<��$ก�1ก?%������$ก���$3��ก�6�$����3���$#%.	,��
 �.	-��%��$

� ''31�$,��1��$���	�,��	
$�3$��	�$��	�$ก�����ก��	�%�.�7&����#�$��$��	���%�����3ก��ก��� 8��

71�.��$#��	������ก��	�%�.�.�$�%/.��	�	�,��
9����ก��($�.�	#$����#11��	 �ก�. #�.�����ก��

������$#��	 �&� �3ก#��	��ก�����ก7�$9367&,,$
��&�$ > 8���`7��-�5�� �,.$ ��	�3� �3����$ ��	ก�	 ��($

��$ ���	�$��ก���ก�����ก���
��$#$���	%�&�ก�����ก#�ก��($����.�$ $�ก'�ก$����	71�.�#��	��	���ก

�%�.1�	#��	��ก�����ก5��-�#��7&,-�ก��%���$��ก������$ก�$5� �������0	ก�1ก���2���$�����$

���� <0�	�
9�ก���2��ก����$��ก���$����($ก���,�
��
� //��$ก���2�ก��-�
�����������	ก�1��11$
���$6<0�	

��
��%�$ก��1����&����11ก��-�
�5�.5���ก���.�$�	&��$5����ก2�%$�8���2�$�ก	�$ก�	�3$�	�����%6ก���2�

��$��	 

3.2 ก����
����+�กA���!�'�!��
��
+����!��
&������ 

%��	��ก�����ก������3���$#%.	,��
�����4-����.� ��1<��$7&�$������	%����	1��$5�.�%$&� �2��%�

,3�,$�ก���.�$=�$���	ก��13ก�3ก����3���$#%.	,��
���ก?%���<0�	��'���������ก�������	������5����	

�2�+��+0	�����%��������'��%���ก�����	,3�,$�$7&�$����.�5�#��,��1��$'����	�.�1��$5�.�%$&���($,3�,$
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���	��
�ก;��� #�	ก���$���	��	ก?%���#����	��
��$�ก�ก����ก�1ก����($7&�$����$3��ก�6���.�$�2��%�,3�,$

��
�����1��11ก��-�
��%��������	ก�1��11$
���$6��ก�0�$ �$&��	'�กก���,����8�,$6����
$�$��ก�����	

ก�����ก��	�,
	��������($��11ก���ก�������$�$-�
�#11������$�7&���%�5��-�-�
���ก����3�8���
5���2�$0	+0	

����%��ก%�����	,��
�7#���������3���	��11$
���$6 8���`7����&����ก�����ก��	�,
	�������$

7&�$���<0�	��ก��ก2�%$���($����3���$#%.	,��
�.��5�.5����1ก�������1���	�$��	ก?%���#����������0ก��	

��	������5� � ''����	ก�.����($�%�3-�%$0�	����2��%��ก
�ก�����1������$ก��-�
��%�������%��ก%���#��

�2�$0	+0	-�ก���1�.���11$
���$6�7
����ก�0�$ 

3.3 ����&1��!
��
ก���=�&ก-������ก-0�&+�
&���!� 

      -�ก���0ก��71�.�����5�.#$.$�$��	ก�����ก7&,�,
	��������($��ก�	&��$5�����.	-��%��ก
�ก��

���1������$��11ก��-�
��$7&�$���1��$5�.�%$&� �$&��	'�ก��� ''�����5�.�����+��1�3�5�� �,.$ ������	

-�-�
� ����� ''��ก��-�
� ����5�.#$.$�$��	�
�7��ก��%�&����ก�� ��($��$ <0�	� ''���%�.�$�����$

�.	-���.�	��ก�.���11ก��-�
�#11ก�����ก��	�,
	�������$� ''31�$ ������	������	��.�	�.��$&��	�$

��������$�3$�$ก��-�
� �,.$ 7�$936��	 �3|� #��� ''��ก��-�
��������7
����	�0�$ ���ก�1����
����$�7
��

��ก�0�$'�ก���ก�����������$#��	5� �.	-��%�5�.�����+�ก;1�ก����-�-�
�'�ก��	5����.�	��;���� ���1�������

���ก��	�7��	��.�	�����'0	�ก���.�$
������������	��	��ก�0�$ ก�����ก5��-�#����11�ก���#11

-��-��$'0	��
����($��	��&�ก���,3�,$�%������$�'�7
����ก�0�$ 

3.4 ก��"����;
�
�8ก�+'�+�&�*��ก=����
����

��ก��ก�ก���+�#��)!+�8"�ก

����!�ก�4���+��� 

ก��'�����	�	�6ก�,3�,$1��$5�.�%$&�#�������.����($���,
ก��	���&��.����
�������
$��&�ก���1����� 

( ��1. ) ��($� ''��
���$����������2���/�.�ก��ก2�%$�#$���	ก���,����8�,$6'�ก���7��ก�9���,��


��	,3�,$ 8��ก��'�����	�	�6ก�,3�,$5��ก2�%$�����%����2���/�$ก��-��ก��$ก��'��ก�����7��ก�8��

�	�6ก�,3�,$ �7&������	�������3�#�����	�&$  �$ก�����	ก�$  �$3��ก�6  ��ก��  ��#�  wxy$w�  #���,�

���8�,$6'�ก���7��ก�9���,��
 8����#$���	ก���.	���
���11-�
�#11��$����#����$#11

-��-��$<0�	��($ก���,����8�,$6����
$����������	ก�1��11$
���$6 ������	��ก��ก2�%$�#-$ก����11
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�ก���ก��������	�� �� ��
ก ก���,��������  ก�����$������	����
$�2�ก
$������.�
�ก�1�
�%����7&����ก������

,3.�,&�$#������%��ก%�����	7&,�
�$�2� 

  � ''31�$�	�6ก�,3�,$��
�������
$1��$5�.�%$&� 5������	���#11ก��'��ก�����7��ก�8���	�6ก�

,3�,$�$���#118`$�,3�,$<0�	��($��11ก��'��ก������������	ก�1��11$
���$6#��5����1ก�������1'�ก

%$.��	�$�.�	 > 8��5����1ก�������&�ก��($7&�$���$2��.�	8`$�,3�,$<0�	ก��ก.����	�	�6ก�,3�,$8��ก��

ก2�%$�#-$ก��'��ก��#��ก�
ก�ก���,����7��ก�9���,��
����������	ก�1��11$
���$6'0	��($� ''��������.�$

�2���/�.�#$�8$��ก������	��11ก���ก�������%������2���/�.���11$
���$6#������%��ก%�����	

,��
�7��	,3�,$��ก�0�$ 
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����� 5 

1�'#3�ก��,?ก-� 

 

,3�,$5�.�%$&���($,3�,$�4���$$2���������ก�
�7�$ก��'��ก�����7��ก�9���,��
-.�$��11�
� 

�����,&�� 
��
� //����	+
�$ 8��#��	��ก��-.�$�
+�ก���2��	,��
���	,��1��$#��ก��1�$ก��'��ก�� 

���7��ก�9���,��
�$���#11�.�	> 8���	&��$5��2���/����2��%�,3�,$����1�����2���;'�$ก��'��ก�� �4�

��$$2�� 5��#ก. �3$��	��	���.�	>�����
���$,3�,$ 5�.�.�'���($���7��ก�9���,��
����3����1���6 �	�6ก�

,3�,$#�����&��.����
�������
$��&�ก���1�����������ก���3�$�%��ก
�ก��#�ก���$3��ก�6
���$,3�,$ 

�������7�$96��	�$�$,3�,$�����ก��70�	7������ก�$#���������ก��,
��$
��$�ก�$ ����'$ก�����1�
+� 

ก��-�
��%��%�����ก�1���	� ''��ก��ก���$ก��%����,����8�,$67&�$���'�กก��1�	��1�,�ก?%����$3��ก�6�4� 

�3���$ ���+0	ก������	#%�.	��%���7&����($�3$,��
��$������&�$#��ก����ก��������1���6��	���7��ก� 

9���,��
�7&���%��ก
������ก&��ก��#ก.��11ก��-�
����5����1���8�,$6'�ก������1���6#������%��ก%���

��	,��
�7��	�4���$��($������.�����#������
$�2�ก
$��	,3�,$ 

 

1. &
*��� ����1�
3����,�ก!7����
+'�+���ก��"��ก��#$�����=;� 

'�กก���0ก���
'��71�.��	&��$5�����.	-��.���ก�
�7��	,3�,$�$ก��'��ก���4���$$2�����ก�1���� 

�	&��$5�%���>���ก�� 5��#ก. 

1. �3$��	��	���.�	>�$,3�,$ 5��#ก. �3$�$3��6 �3$9���,��
 �3$��:$9���  

�$���$��	�3$9���,��
 ,3�,$$�5�.�%$&�����&�ก���1�����<0�	��($���7��ก�9���,��
����3�� 

��1���6���	�
$ $2�� #���4�5�� ,��1��$'0	���	��ก��'��ก�����7��ก��%�.�$��$�7&���%��ก
����8�,$6�.�,3�,$ 

#���ก
��������	�&$��	���7��ก��.�5� ���$�3$�$3��6 �	�6ก�,3�,$��-��$2�����%������2���/ก�1ก���$3��ก�6 

���7��ก��4���$$2�����ก���3�$,��1��$�$,3�,$�%��ก
�'
��2�$0ก�$ก���$3��ก�6�4���$$2�� #���$���$�3$ 

��:$9��� ,3�,$$�,3��%;����
+�,��
����-�ก7�$ก�1�4��$��&�ก���1���������.�	���$�$ '0	�2��%��ก
� 
��
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� //�#�������,&���.�	>����ก�������	ก�1�4� �����������&1�����'�ก1��713�3��2��%�,3�,$�����+$2��� �,�

�$ก��'��ก���4���$$2��5�� ��ก���	ก���.���&�ก�$��	,��1��$�$,3�,$�������
���7�$96ก�$��.�	�ก��,
� ,.��ก�$

�
� ,.��ก�$��
1��
 8����'
��2�$0ก��	ก���$3��ก�6�4��2��%�ก��'��ก�����7��ก��4���$$2����	,3�,$ ��($5�

��.�	������
�9

�7��ก�0�$ �3$��	��	��'0	��($�	&��$5�%$0�	���'��.	-��.�ก��7�:$���ก�
�7��	 ,3�,$

�$ก��'��ก���4���$$2�� 

2. ��11�������7�$96��	�$�$,3�,$  

'�กก���0ก��71�.� �$�$,3�,$�.�$�%/.��($���&�/��
 �����ก�$ ���������7�$96ก�$��.�	�ก��,
� 

��ก���	1��$��&�$�.�$�%/.'����.�$��#�ก�����ก�$ �2��%��.�	5���%���.ก�$5��	.�� #������ก�����	�,.$��	�� 

,$1��.�$�%/.����$�$,3�,$��ก'�5���%���.#��70�	7������ก�$��($��.�	�� '0	�2��%�,��1��$�$,3�,$ ����

5����.�$�.���$ก���2�ก
'ก����.�	>��	,3�,$��.�	��2������  

3. ก����ก�3.�/�	�6ก���	��	���$,3�,$  

�	�6ก�,3�,$5�.�%$&� ��($ก�����ก�3.�ก�$�7&��,.��ก�$��#���ก���4���$$2�� ����'$�.��ก�$�
�#�� 

'��ก�����7��ก�9���,��
8���%������2���/ก�1ก���$3��ก�6���7��ก�9���,��
 8�����,
ก�$�	�6ก� 

,3�,$�.�	����7���1��1ก?�ก�^6�.�	>��	,3�,$ 

4. ก���
��.��&�����/ก���$�1�$3$'�ก%$.��	�$
��$�ก  

��($�	&��$5�%$0�	����.	-��.���ก�
�7��	,3�,$�$ก��'��ก���4���$$2�� '�กก���0ก��71�.��� 

%$.��	�$
��$�ก5���������$�1�$3$,3�,$ �,.$ ���&��.����
�������
$��&�ก���1����� 5���������%�������� 

#ก.,3�,$�$ก���,����7��ก������
���$,3�,$�%��ก
����8�,$6#��ก���3�$�%�,3�,$5����	�%;$+0	�����2���/

��	ก���$3��ก�6���7��ก�9���,��
 8����ก�����,3�ก���ก����($�����$ก���&����������;$�������#�� 

�+�$ก���6ก��������$#��	���$���7��ก����	��	$8�1��#��ก?%��� 

ก�����,3�,$'�����1-��2���;'�$ก��1�$ก��'��ก���4���$$2��%�&�����ก�
�7�$ก��'��ก���4���$ 

$2��5��$��$ '����	���ก�1�����	&��$5�%�&�� ''��%������ก������2��%�,3�,$�����+1�
%��'��ก�����7��ก� 

�4���$$2��5����.�	������
�9

�7 5��#ก. ���	�����ก���.���&��.���'ก�$��	,��1��$�$,3�,$��	��������� 

���7�$96ก�$��.�	�ก��,
� '
��2�$0ก#���3��ก���6�.����	�$�$,3�,$ ก��5����1ก���$�1�$3$'�ก%$.��	�$ 
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��$�ก�7&���%�ก����1���&��$�.�	>��	,3�,$���������$�	��ก�
�	�0�$ ��ก���	'��%;$+0	��ก�
�7��	,3�,$ 

5��'�ก�
+�,��
���:$9����.�	>��	,3�,$ <0�	�������	ก�1ก���0ก����	��$.%6 '���
ก #����� (2536) ���

5���0ก����ก�
�7��	,3�,$�$ก��'��ก���4�#��71�.���ก�
�7��	,3�,$'�#��	��ก����.�	,���'$�$

�
+�,��
�#����:$9����$��������0ก%�	#%$#��'
��2�$0ก��	ก���$3��ก�6�4��$���#11��	ก��'��ก���4� 

#��'��%;$5���.�,3�,$ก�1�4�$��$�����+'����.�.��ก�$5��8��ก��70�	7������<0�	ก�$#��ก�$ �������	ก�1#$� 

�
�$
�����:$9�����	��$�$�6 ก�/'$7�$936 (2544) ���5�.�%;$����ก�1ก����	�
�7#���������#�ก�.�$��ก 

'�ก��11��	����	�$3��6 8��7��������'��2����������'+0	ก�����.�.��ก�$��	��11���	��	<0�	����
��� 

7�$96ก�$��.�	���1<�1<��$��ก���	��11$
���#����:$9����.�	���������7�$96�,&���8�	ก�$���� #��ก����� 

,3�,$����ก�
�7�$ก��'��ก���4���$$2��$�ก'�ก'��.	-����.�,3�,$��	#�����	�.	-����.���11$
���8�����

���	#�.��$$2��5�'$+0	����$2�� 

 

2. ���������9�
������1��4�P: �*;�.��
������"
��
���������
��
����� 

���7��ก��4�5����($%$0�	�$���7��ก���9����������������ก���	���	 ก����7&�$����%�����2��%� 

ก��'��ก��#��ก����#���($5�5����ก  #��%�ก��1�%���($
���%$�����#ก.�$ก�3.�%$0�	ก�3.���ก;��'���($ 


��������ก'���1-
�,�1�%�������
�9

�75�� )%��กก��'��ก���.��* '0	��($%��กก���.���������+�ก$2����,� 

�$ก��'��ก�����7��ก��4�5�� #$��
�����2���/#��5����1ก�������1��.�	ก���	���	 �&� �����$��2���/��	 

$�ก����=�����6��	���8$�1������$���ก����,
	�+�1�$���'��2��%�ก��1�
%��'��ก�����7��ก���($5���.�	

���	�&$ (the Design Principles � %��กก����ก#11�,
	�+�1�$) �����$�'�ก%��กก����ก#11ก��'��ก�� 

���7��ก� ��($ก��'��ก�����7��ก��.�� (Common-pool resource) <0�	��($�
$���%�&�1�
ก����.�	%$0�	��� 

#�ก�.�	'�ก�
$�����ก,$ (private goods) %�&��
$�����9���� (public goods) 8�����7��ก��.���� 

��ก�������2���/ 2 ���ก�� �&� �
�	�,��
�	��'2�$�$�	 #��ก���,����7��ก��.��'��ก
���$�3$�$ก��ก��ก�$ 

%�&�%�	%���5�.�%�-���&�$�������,���	 %�&�ก;�&� ก��ก�$ก���,����8�,$6'�ก-���&�$5����ก �7������7��ก��.�� 

���1��3�7&�$����$���%/. �,.$ �4�5�� ����%�&��%���3�� ��($��$ ��	$��$������ก����`7����	���7��ก� 

�.�����ก�.��+0	$��$��$�2��%�ก���,����7��ก�'�����1� /%���.�	$��� 2 ���ก���&� 1) � /%���	ก���,� 

���7��ก��ก
$ก�.������11���7��ก�'������+-�
�5�� (overuse problem) #�� 2) � /%���	ก�����-��5����1 
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���8�,$65�.����.��#1ก��1��$�3$#��ก��ก�$5�.5�������7�����$�3$ก��ก��ก�$��	 (Free riding problem) 

%�&�ก;�&�� /%���	ก���,�w��#��5�.��1-
�,�1�.����>  

�7&�����'�#ก�� /%���	ก�.�� -���,����7��ก�'����	�����+1�
%��'��ก�����7��ก�5����.�	���	�&$ 


�����ก��ก2�%$�����ก�	����2���/�$ 3 ��ก��� �&� 1) ก������	%��ก���ก�$�.�ก���,����7��ก�'�5�.���. 

�$����1����2��%����7��ก����	7�	�����	5� 8���� 2) ���������+�$ก���%��2����$��//��.��3ก�$'��2� 

���ก�
ก�����.��ก�$���	 #�� 3) ก���.��ก�$���'���#��1�	��1�,�ก�
ก� %��กก����ก#11�,
	�+�1�$$��5��+�ก 

$2�5�����3ก�6�,����	�$#	.	�$�
'��#���$��	��
1��
��ก��� #��	�$�2���/���1��'3%��กก��$���&� )Governing 

the Commons: The evolution of institutions for collective actions* (Ostrom 1990) 8���$��������3� ���

7
��'$6��	����
�9

�7��	%��กก����	ก�.����	ก�����($-�	�$�������	�3���ก��'$�2��%� Prof. Ostrom 

5����1��	���8$�1���������=�����6��ก���� 

8�� Prof. Ostrom (1990, 2010) ก�.���.� ก��'��ก�����7��ก����	��ก�
ก�������	�������	ก�1 

�	&��$5��,
	��	��#���
�	#������
���$���	+
�$ (Congruence with local conditions) ��ก��ก��'����$�3$ 

�%����,
กก;���	���%�3��-�ก�1ก��ก��'��-����8�,$6 (Appropriation and provision) �$��	��
1��
 

ก�
ก����ก2�%$��0�$$�� ก2�%$�'�ก-���,����5����1-�ก���1'�กก�
ก�$�� #��-���,������+����	#��������$#��	 

ก�
ก�5�� (Collective choice arrangements) ��ก�����'���-���,����7��ก�����ก�$��	 %�&�8���$�&�$���-���,� 

���7��ก��%;$,�1 (Monitoring users) �$ก�����ก���4��x$ก�
ก����	�������ก���	8������7
��'�ก$���5� 

%���ก 8��7
'�����.�ก�5ก�$ก��'��ก�����������
�9

�7$��$���	�����+���������#��	��������;� 

��$�3$��2� #������+0	5�� �����+#ก�5��������#��	��%�.�	-���,� #����%�.�	-���,�ก�1�'��%$�����5�� (Conflict 

resolution mechanisms) 8���
�9
A�$ก����กก�
ก��7&��'��ก�����7��ก�8��-���,����7��ก���	5����1ก�� 

�����1'�ก��= (Minimal Recognition of Rights) #��%�ก���7��ก����'��ก�����.�������,&���8�	ก�1��11 

$
���$6�ก������	 ก��'��ก��������1��3���11$
���$6$��$���� 8����'�,&��������$ก�1�	�6ก�%�&����&� 

�.�������#���11$
���$6�$����1����%/.ก�.� (Nested enterprises) 

���	$�� �$#���	�
,�ก��'��ก�����7��ก�5�� $�ก�
������$�%��กก��'��ก�����7��ก�#11���.�$ 

�.������.�	#7�.%��� ���	�7&��ก������	����
�9

�7ก��'��ก�� ���7��ก��4�5�� ก��#ก�� /%��������#��	 

�$ก���7
7��7&�$�����=ก�1���,�,$ $�ก�
��$�2���/ �&� �.�ก����
�3� ��$�$�6 ก�/'$7�$936 $�ก��$3�� 

�
��������$�%��ก�
� ��&��	�
�9
�,
	<��$ (complexity right) �2�%��1ก��%���	��ก�ก����ก�1�������#��	�$ 
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ก��#ก�5�� /%�,3�,$ก�1�4�����.�	���$�$ 8��#$��
��
�9
�,
	<��$��($ก��#��	�%��%;$�.���&��	�
�9
 

5�.5����#�.�7��	� '�'ก (�
�9
���ก?%���) %�&��.��
�9
,3�,$#�.�7��	��.�	����� #�.9���,��
��	�
�9
��	�� 

��ก%�����.�	������5�.5��#'ก#'	��ก��  

�
�9
,3�,$ <0�	��($���#11�
�9
�,
	<��$ %���+0	 
���������ก�	'��ก���.����	,3�,$ '����
�9
 

%�������
�#�.���7�$96ก�$ �,.$ �
�9
ก�����1���	 �
�9
ก���,� �
�9
ก��'��ก�� <0�	�
�9
#�.������
� ��

ก�����1����	�%�.���.���� #��ก��<��$��	�
�9
ก;��%�������1 %��ก�2���/��	�
�9
,3�,$ ก;�&� ,3�,$��� 

����6����	�
�9
�0�$�� 5�.�.��
�9
ก�����1���	 ก���,� %�&��
�9
� '�'ก #��,3�,$ �
�9
#�.������
�+�ก'�� 

�������7�$96ก�$
�����������($,3�,$ ก�.���&� ��7&�$=�$��	��	��#����:$9�����	,3�,$$��$>��($�
�	��� 

ก2�ก�1���. #$������
��$��&��	�
�9
,3�,$ (community right) $��$�ก
�'�กก���0ก��ก��'��ก���	�6ก���	 

��	��#���
+�,��
���	,3�,$����'$�
�9
�$ก���,�����
$�$#	.�3��.�	> 8���`7���$�����;$�������ก�.� �
�9


���'��������7�� (customary right) #�� �
�9
��	���9��� (moral right) <0�	%���+0	 #$���
1��
��� +&�

��
1��
ก�$����($����,��$�$�$��	��%�&�,3�,$#�.��#%.	'$+&���($'��������7��#%.	���	+
�$$��$ ก.�$���

,3�,$%�&����	+
�$'�+�ก-$�ก���ก�$������($��=,��
�$�����.��� (��$�$�6 ก�/'$7�$936, 2544) 

)�
�9
,3�,$*   ��($�3��ก���6���#$1#$.$ก�1�
+�,��
�#����:$9���,3�,$����.�	���$�$ (,�9
�� 

�������:$�,2546) '�กก���,�,��
��.��ก�$��	,��,3�,$������	70�	7������ �.���3ก�6�.���3� �ก
�������&�� 

����#��-�ก7�$ �������#��	#�ก#�ก����ก
��0�$'�-��ก��$�%���ก���
���$%��
9�ก��'��ก��
���$�%��3�.�	5� 

������($5���	,3�,$�$��ก�����	ก�.�� 7�:$��%��ก
� )ก?�ก� 6̂* ���5�.��($�����ก��6��ก�� #�.��($��� 

1�//��
��$��ก�
A�
�9
A���,��,3�,$�0�+&��.��ก�$ #�	���.�$�
+�,��
�,3�,$ �ก
�ก��-�
�<�2� �ก
�ก��7�:$���($ 

#11#-$���#�;	#�	 ���1�//��
��	ก�.����	,3�,$ ��($���1�//��
+0	�������7�$96��%�.�	�$ก�1�$ �$ก�1 

9���,��
 #���$ก�1�
�	�%$&�9���,��
 ��($�������7�$96����ก�����$&��	ก�1 )��1����2�$�'* ������,
ก#�.�� 

�$#�.��=�$�70	�� 70	5����1�.��ก��	ก���2��$
$,��
�����ก�$ �2�$�'$��$��($�2�$�'����3ก�$�����1
����� 

)�3��.� ����0�+&��.��ก�$* ��($�2�$�'���������,�19��� ก;�&� )��11�
�9
* ��	,3�,$$��$��	 

  ��$.%6 '���
ก  �%�����%�����	 )�
�9
,3�,$ �&� ก���%�,3�,$,��1��$���
�9
�$ก����&�ก�$��� 

��	�����	 ��($�����	�����	 ��($�
���8�������	�$�+�$ก���6� ''31�$ ,��1��$'2���($'����	����$���,3�,$ 

���������. ���7��ก�����%��ก%�����	,��
�7 
��
� //��%�.�$����($�
�	���8�กก2���	'��	���. ������	����$��� 

���'��,&����
�	�����������.ก�1�������	ก�� �������%��	'�ก8�ก
��$�ก��.���$���'��ก���	�
�9
��	��� �$
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��������ก�$ ก;�,��
�9
���'�7
��'$6�%�8�ก�%;$�.���������+�2����8�,$6�%�ก�18�ก5�� ��.�	$�������3� �ก� ก

��ก�����7��ก���	8�ก   

���	$���������������	ก�1  ��  ��$���1��
  ���1�ก�.�  )�
�9
,3�,$ %���+0	 �
�9
�.�� �%$&����7�6 

�
$��	,3�,$ ���,
ก��	,3�,$<0�	�2�%$�������#���ก���4���.�$��$ '0	'����
�9
�,�#��5�����8�,$6'�ก�4� 

8��$��$�� �
�9
,3�,$�%������2���/ก�1ก���,����8�,$6'�ก���7��ก��7&���.�$�����กก�.����8�,$6�.�$�$ 

��	$��$ #���.�8�����?�#������,
ก��	,3�,$���	%��'���  �
�9
���9���,��
  �$ก���,����7��ก���� #�.

,3�,$ก;�����+�,��2�$�'��กก?�ก� 6̂8���2�$0	+0	 ������($9����$��	��  ��($�2���/�����.�	�,.$ 

,3�,$%���#%�.	��ก?�ก� 6̂�$3/���%�#�.���`7��������&�$���#�.		�$�%�.#����ก'$��.�$��$'0	'����
�9


���5���7&���,��.�$��� �$������������&�$�����=�$���'�5�.5���
�9
��$$��$*  

��11��=,��
ก.��%��ก
��
�9
��ก���ก��%$0�	<0�	�3.	ก.��%��ก
��
�71�	��1#ก.�3ก�$
���$��=$��$ 8��

���	=�$��$�'����'���($#���������$�	��	��=,��
$��$�
�9
$��$�&��
�9
���ก?%��� ��$�ก
�'�ก 

ก��1�$ก��'�����1��1��	ก���ก���	�$��11��=,��
$��$��	 �$%���ก���ก�����	�
�9
1$7&�$=�$��	 

�����#��#$��
����#�ก�.�	ก�$$��ก.��%��ก
��������#��	��%�.�	��=ก�1,3�,$�0�$ �,.$�$������5�� ก�����	 

,��1��$������.������$���7&�$����4��	�$ �4��,��1��$���	�
�9
,3�,$�����11'��������7�� 8�������#�� 

�2�ก
$�$7&�$��������	#�.1��713�3� (ancestral right) �.�$7����,1�//��
�4��	�$#%.	,��
 7.�.2507 �7
�	

��ก���$
��%��	�.�$��=���	����'���($�$ก���$3��ก�67&�$�����$$�2�#��ก����#����7�6�
$ )��	,��
* <0�	

��($��&��	��	�.�$�����	�$���	������ 

�����;$���$.��$�'�$	�$�
'����	 ��$�$�6 ก�/'$7�$96 �����;$%$0�	�&������;$���ก�.��+0	 �
�9
 �$

������($�'����	 (right of ownership) #���
�9
ก���,� (usufruct right) <0�	��($�����;$�����e�8�ก���%��� 

ก�����$����$��ก�$��%�.�	��=ก�1,3�,$��ก�0�$ ��=��'���	%��ก��	1���
�7#%.	�
$#�$#�����	ก��� 

�
�9
Aก����($�'����	�%$&��
$#�$���	%��
���$��=#�.�
�9
ก���,����8�,$6����'$ก��1�
%��'��ก����#� 

���7��ก���.�	���	�&$��'��1�%�ก�1,3�,$ ��	�,.$ก�����	 ก?%����4�,3�,$ ก;5�� (`���,�� ��
��$$�6, 

��$�$�6 ก�/'$7�$96,#�����=
�� ก�/'$7�$96, 2536) 

$�1��($ก��#��	%���	��ก%�&�ก�����$����$��ก�$��%�.�	��=ก�1���	+
�$�$��&��	��	�
�9
�%$&� 

7&�$����2�ก
$ 8���
�9
�,
	������ %���+0	 �
�9
<0�	+�ก���	�7&���������1���	 �2��$
$ก����($�'����	8����;� 
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���#�.�7��	-�������/ก�3.������-���&�$5�.���
�9
����5��,����8�,$6�$ )#�$#%.	ก����
�9
A* $��$5�� �$������ 

�
�9
�,
	<��$ %���+0	 �
�9
�$ก������+0	%�&��
�9
�$ก�������,����8�,$6�$��ก��������($7&�$�����	�.�$��� 

5�.��������($�'����	#����/�����
�9
�$ก���,����8�,$6$��$5���&����
ก�,�7&�$���$��$#��� (��$�$�6 ก�/'$

7�$96, 2544: %$�� 122-123) '�กก��1�	��1�,� �����+��::���#$�1
��
��
+����.,.2507 <0�	1�	��1 �%�

���,�,$���	�7�7��ก'�ก7&�$����4��	�$5����.����&�$<0�	5������	�������#��	�ก
��0�$��%�.�	��=#����� ,�

,$ �'�$����6��	��=9���$�/ �&� ���	ก���%���($ก�����ก�$�
�9
��	,3�,$���+0	ก���$3��ก�6�$1 9���

�$�������7����$��	����	���	+
�$<0�	+&��.���($'
��
//��#%.	ก���2��	���.��	,3�,$ ���	+
�$ �7&���%�

,3�,$ ���	+
�$����������#�;	 �����+���$��$'�กก��#�
��$�ก<0�	7�����ก������,3�,$ ���	+
�$�%�

������.ก��#���	�3$$
��#��8�ก�

���$6��.�	��;���� $�ก'�ก$��$ก��ก2�%$��%�,3�,$���	+
�$ 5�����.�$�.��

�$ก��'��ก�� ก��12��3	��ก��#��ก���,����8�,$6'�ก���7��ก�9���,��
#���
�	#��������.�	 ���3�#��

���	�&$ ���1�//��
$���.�$���	'��%;$5��,���'$�.��&$���.1$%��กก��#$��
�������	ก���%����	+
�$5���� �.�$�.��

�$ก��'��ก�� ก����#� ก��1��3	��ก�� ����'$�
�9
ก���,�#���
�9
ก��'��ก���,
	<��$$��$��	 

����1ก���6�$ก��1�
%��'��ก�����7��ก�9���,��
�$������5���$��1%������������-.�$��

71�.� ก���%���=#�.�7��	�4���������($-��1�
%��'��ก���$��ก����
�9
�,
	������$��$$�ก'�ก5�.�����+ 

�ก���	#���$3��ก�6���7��ก�9���,��
���5��5��#�����	ก.��%��ก
�-�����%��#��� /%��������#��	�����

<0�	5�.��($-���ก�1��=�$�,
	$8�1�� ����$�%���ก,$�2��$
$ก�� -������ก��ก;��($��ก��������ก�$ ��	$��$�� 

�%�&�$�.�ก���%�,3�,$���	+
�$���������.�$�.���$ก��1�$ก���$3��ก�6#��1�
%��'��ก�����+0	�,����8�,$6

�.��ก�1��=$.�'���($��	��ก������2�%��1�3ก�4�� 8���`7���$���$��	����%��ก%�����	,��
�7 <0�	'�

��($
��
� //����	+
�$����������2���/�2�%��1��	���$�$��� 

 

3. �
�8#��ก����
���������
��
����� 5��#ก. 

1. �������$�	��	��%��1$=�$�	�6ก�,3�,$ 

� ก�
ก��$ก���,����8�,$6���7��ก� ก���
�������'��1 ��#���ก�� 

� %��ก���ก�$/�3$��	��	�� �$����ก�
#������
ก�� 
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� ก���.����������� ก��#�ก������$����$�����	���&��.�� 

� #$��
�������7�$96ก�1,3�,$��1���	 ���	��11$
���$6 �ก���	���$�2�     

,.���%�&��$����
ก�� 

� ก��7�:$���ก�
�7,��1��$#��,3�,$ 

 

2. �������$�	1$=�$�������#��,3�����1ก���6  

� ก�����	70�	7���%�� ����3$57� 

� ���5��'�ก�4� (����=ก
''�ก��ก���) 

� ก�����.�$7&�$��������	 �����1�	��	$
��� ���	��ก���2����9���,��
 

� �������/
��
� //� �ก����ก�1���7�3� ��ก���7
�����	7&,�4�����2���/�$����
ก�� ����������$

����%��ก%�����	,��
�7 <0�	'���($
��
� //����	+
�$����������2���/�2�%��1��	���$�$��� 

 

3. �������$�	��	��%��1$=�$$
���$6#����:$9��� ���ก�1���� 

� ������1���6#��%��ก%�����	���7��ก� (�
$ $�2� �4� ��ก��) 

� ��11ก��-�
��������$#119���,��
 (7&�$��������1�	��	$
���$6) #�����1���ก�1ก��

������$#��	��	����=ก
' ��ก���,�������� (��%������
��) �������$�	�$����
$�$=�$�� ''��ก��-�
� 

(�4�,3�,$����	����=ก
' #��	���ก���
��������$�	��	��%��) 

�,3�,$���	��ก�����3���	9���,��
�7&������	�������$�	��	��11$
��� (ก����ก�����3���	

9���,��
'���($�.�$�2���/�$ก������	�������3���	#%�.	��%��) 
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� ��:$9���ก��ก
$1$=�$ก��70�	7�-�-�
�'�ก�4� (ก
$��%��������ก�� ������%��ก%��� 

�$�$��	��) 70�	7�ก�$�$,3�,$ )�
�
��	�����ก&��ก��#1.	� $* �$ก������+0	��%�� 

� �3��ก���6�����
�����.� �4� �&� �����
ก��,��
� (,3�,$70�	7������	5�� 5�.��&�����$��	�� �
�


������($9���) 

 

4. �
�8ก�+'�+�: ก� กก��1���
���������
��
��������!��
!*� 

,3�,$5�.�%$&���($,3�,$1$7&�$�����	������
+�,��
�-�ก7�$ก�1�4� �����+$2�
��
� //��	�6����������	��
� 

<0�	��($��$�3$��	��	��#����:$9���������3ก�6���1�,��$ก����ก���3$��	9���,��
 �&� ���7��ก��4�5�� 

5����.�	�%���������
�77������	,3�,$ 8��������	�6ก�,3�,$#�����&��.����
�������
$��&�ก��� 

1�������($ก�5ก�2���/ �,�ก�3.�#��ก���'�'��$����1�.�	> ��($����#�ก������$������� ����1ก���6 -$0ก 

ก2���	-��$�����.���&�'�ก���,
ก ��ก?���1��1���	������.�$�����	'���� ����7�� 7
9�ก��� #����($��� 

��ก��6��ก�� �$��ก����������ก�.���($ )9���$�/,3�,$* ��1���#����
1��
�&1�.�ก�$�� �2��%������+��ก�� 

-&$�4�$�1%��7�$5�.�%��	���.5��  

1�7
��'$6�2���/'�ก���,
ก�	�6ก�5�.�%$&�5�������$�%��%;$�.� )ก��ก2�%$�$8�1��'�ก�.�$ก��	 

8����������2�$0	+0	���,�,$�$,3�,$���	+
�$ ��($����-
�7�����.�	�%�$�6 ����.	-�ก���1�.��3�
�7 

,��
� �$19����$��� ����7�� #�����7��ก����	+
�$��$�3����1���6* �	�6ก�,3�,$#�����&��.����
��� ���

�
$[ ����3ก�0�$�&$%����.����ก�1$8�1����=����ก��1�$ก���'�'� 	�$�0ก���
'���7&���0ก��� /%�#����$� 

��	��ก�$ก��#ก�5�5���&$��$+0	�����3.	���$#���3��ก���6�$ก����ก�����7��ก� 

ก��1�$ก��7�:$���	,3�,$����ก
��0�$'�กก��1�$ก������$��� ���	'�ก$8�1�� � /%� %�&�����1 

ก���6����ก�������	ก�1ก��'��ก�����7��ก�9���,��
#���
�	#������ �����
+�,��
����5�.�����+#�ก��ก'�ก 

ก�$5����%�.�	,3�,$#��#%�.	���7��ก��$���	+
�$ �����($���	#%�.	��%�� #%�.	���5�� #%�.	����ก��8�� 

#����$�6�����	
��
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